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The Design of Master Production Scheduling Mechanism
for In-house Color Filter Plant

Student : Wei-Cheng Li Advisor : Dr. Shu-Hsing Chung

Department of Industrial Engineering and Management

National Chiao Tung University

Abstract

Color Filter (CF) is a critical component of TFT-LCD (Thin Film
Transistor-Liquid Crystal Display) panel. The increasing demand of panel leads
to the economic scale for building an in-house CF plant in these days. For an
in-house CF plant, its outsourcing firms set the constraints about product types
and amount for outsourcing. To solve the in-house CF plant scheduling
problem, and to determinie in-house,manufacturing and outsourcing amount
problem, this thesis focuses.'on the .in-house CF plant, and proposed a
mechanism regarding to master. production schedule (MPS). It is a flow shop
scheduling problem with considerations order’s due date, sequence dependent
setup time, machine capacity, machine dedication, reticle resources, and

outsourcing constraints contracted with'suppliers.

This mechanism applies the concept of rolling horizon planning, setting
the length of a planning interval by the first due day among orders so as to
solve the problem part by part. We first consider the capacity of machines,
outsourcing amount, and reticle resources to see if their supply can bear the
aggregate demand of orders. According to the estimation, we can recognize
current demanding belongs to the environment of slack season or rush season,
then using the corresponding integer programming model that matched with a
output planning procedure for achieving minimum manufacturing and
outsourcing cost. This procedure thus generates the production sequence on
each machine, releasing time and the production amount for each product type,
the schedule of each reticle, and the the product types and amount for

outsourcing.

II



Experimental studies reveal that each machine was scheduled with
minimum setup time to make full use of capacity and reticles in both rush and
slack seasons. Besides, this mechanism considers the demand season to select
the most suitable product type and amount for outsourcing. Consequently, the
mechanism proposed in this thesis can provide practical information for
manager to make outsourcing decision, for determining exact arrival time of
each kind of material, and for detail production and reticle scheduling to shop

floor control.

Keywords: In-house Color Filter plant, TFT-LCD, Flow shop, Sequence
dependent setup time, Integer programming, Rolling horizon planning,
Reticle resource
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PR 2
. 22,200 | 20,550 | 17,620 | 13,300 | 39,960 | 37,220 | 32,800 | 18,200 | 19,230 | 21,190 | 12,500 | 19,800
27 REE(d)
(6)7 & *h#cE T3
AR A)F R 2 e £EXHE 5 0e—18,000 2 0,,,,=40,000 >

M Onumber(w—i 2

He BB L) Z o (L 2
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412~ 4 A REBER

MU A BEEP A FT Y 24 A RK
(DRF g A 2R3

AT RBIER L 28 X (Bti- £3H2Z ) LRk
TH QY B S

Q¥ £ HE R L EY ) AR kR TLw B R 2 T o

AE L 4L At K SMIRB LR GIRELH S B RP AN G
RAPORERLGTE TR LA SR RAIEE T 287 KE) aT
AR A ST e LG ﬂz£3£¢=£3u$ﬁax;ﬁlzr331\
L TR A G, 2 T332 SR B adde R AR T

VT T2 AL BRI T A0y L
421~ FLFF 1 T AN R T

r IV S S| *#ﬁ’¢ﬁﬂﬁi?§ﬁ%iﬁﬁﬁ
(Stepl) » #-F18 2_ B fE & » ¥LIE A i A 7 Ho5N o fE(Step2) » i | W j;ﬁz;
BEEFE G AN AF2 55 (Stepld) s M E RGPS
KRR 2 B TR (Stepd) 5 4TF 4 A gt w o SRELP SZ 8 ] 2 T aE AR
Stepl : ¥4 P FZ K> REFAELI BEL » X E M 2k

LREBEEELS LT A o 2 ERDTH 2 W RHE due,
237 H Eﬁ:"“% £ D F3EY N 3-52%2 38 3-6 K5 ready, 3 idle, 2. BciE > 1!
=l 2B AN 4152 N 420 FRA P2 P B EFENL 47
ready, =min(7;) = min(0) =0 (%)

idle, = max(0,ready, —due,) = max(0,0-0)=0 (%)
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#4-7T FER B AR AEE LPHAGEE

BAIEY | TH B ; D 7 ready, due, idle, setup,
t / ! ! (*) (%) (%) (*) #)
1 1 {1,3,5,7,8,9,10,11} {1} 0 0 3 0 31,133
2 2 {2,3,5,6,8,10,11,12} 2} 1 1 4 0 29,288
3 3 {1,2,4,5,6,7,8,9,10,11,12} (3} 3 3 16 1 40,691
4 4 {1,2,3,4,5,6,7,9,10,11,12} (4} 17 17 20 0 40,527
5 5 {1,2,3,4,5,6,7,8,9,10,12} {5} 17 17 28 0 40,418
BPhd A SO B T SEN 3 I8 H S S om wRAFAP 2
G éﬁ‘é(fﬁﬁ#r“f B A, 85 R pm, > PRI AR F eg,)
B iAot 4-3~5% 4-5 Brop
cap, =(1— 6 2 05)x (28 —1)x 24x 60x 60 = 2139674.75 (#)) \
Py 61360 2411440 O i 4-3
6.5 24.5
cap, = (1— - —0.05)x (28 —1)x 24 x 60 x 60 = 2134665.14 (#) X 4o
P2 = (e 360 24541400 )x(28-1) (#7) 3t 4-4
cap, =(1- T2 05)x (28 =1) x 24 x 60 x 60 = 2132392.45 (F)) \
Ps 74360 25+1460 MY 45
Bish B A B 2 HEMPE g AR R RLIED 1 2 T A S
Fee (247 BBS3- 18BEEF Y~ F 075 (£ 4-6) &
5’%2’ F$3-192 X320 0 W REFETZHADELFTH PN H M2 T
PRGN 4-7 328 4-11) 5 2 d NBIDTA 5 £ 8 2 AP (% 4-7)
Befs 8 3- 22 R THRAGRZ T * & i dod HRPFF “,ért e PRt R
ZF R A TAREE L2 1 SRR 4-12) -
I =0y U I, ={0,1,3,5,7,8,9,10,11} 46
Z ZSZ‘”.
- ierbem i'el, , 280200 ,
S boqin = - - ~3891.6667 (#) X 4.
begi Z zixi, 72 (f/) by 4 7
il iel,
2.2 5hs 234300
Sty = lefzgziz - ~3660.9375 (#)) X 4.8
iel,
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Z Z sti,i,

- iel,y i'el 447600
sty =i<hich =3699.1736 ()
3 Ziz 121 )
iely
2.2 st 445800
Sta = ielyi'el, - = ~3684.2975 (7f/'/)
S 121
iely
2. 2.5, 444600
- iels i'el
g = Sl el = ~3674.3802 (#)
5 3 121 )
iels

anp Zset up,

m=1

u=

6406732.34 —182057.2 y

Z capm
m=1

6406732.34

Step2 : R jZHg5E A it A~ o Ho5S

F1 2 g

ﬂiwﬁéﬁg’%&ﬁ%@»rw

3-25) > e ARAR T

3-24) 5 112

b &

7 R(d)icE g EWRX ) 5 0
#cE + 12 40,000 BRI (S 3- 26)’

TSR o

AR L AT Y 2 EERB 5P L i B(CPU) Intel Pentium IV
3.00GHZ - 4% 15 B~ s R #(RAM)1.00GB ~ ¥ ¥ % %2 % Windows XP o 12 gt

BT ILOG OPL :FY » £7 4

1,697,200—p % = & 1,127,662 >
AR REE G 60 B~ FEREFRF S 001 4))0 %%

$ 5 X[im]=X,,, ~ O[i]=0, ~ Z[il-Z

86

i HTe ’E‘(J{

4- 8 2 4.3
& & A 569,538 ~ L4

% (1Y pEEs
u@:l‘ 16 "
RS T P2

i 4-9

X 4-10

;4-11
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% 48T ANA RHARFLE

R g A
A &5 i&%" B | A&%N 0w s m| A&KBIE e | A &N AR ST
(%) 24l e (F) |12 EE(R) | FR2E(R)
A 22200 | X[1,1]=22,200 | O[1]=0 Z[1]1=0
B 20550 | X[22]=11.708 | O[2]=8842 | Z[2]=0
C 17.620 | X[3.1]=17.620 | O[3]=0 Z[3]=0
D 13.300 - O[4]=13300 | Z[4]=0
X[5.2] = 39,959 - _
E 39960 (2= O[5] =0 7[5]1=0
F 37020 | X[63]=27,721 | O[6]=9499 | Z[6]=0
G 32.800 | X[7.2]=32.800 | O[7]=0 Z[71=0
H 18200 | X[8.3]=18.200 | O[8]=0 Z[8]=0
i 19230 | X[9.1]=19.230 | O[9]=0 Z[0] =
J 31190 | X[10,3]=2L190 | O[10]=0 Z[10] =
K 12,500 | X[1L1]=12500 | O[11]=0 Z[11]=0
L 19,800 [ XU21]1=12918 | 551 7[12]=0
X[12.3] = 6,352

Stepd : £33 A4 » A &

d & 4-8¢ Wavo RJIGAPN > BT EW o WAARFEL S 27 E
TR 2 PMEE e AR KRR o WA s LA KE Y
% 08 » Y87 Stepd -

Stepd : * & @ WA EF L2 e g T 1
N ﬂ‘ﬁ'%élj IR & :‘:,'é_;f\?(ZOi )g"j e & S H\l(olower)ﬁ?"&i BE 4 2
i

‘\'JH-

1
* AT ZO 8,842 +13,300+9,499 =31,641>18,000 » F]p* i& » Step4-1 °
i=l1

Step4-1 « CesT= 1
*t Stepd 2| ¥rid & {8 &~ j\ﬁ%’ﬁ:ﬁ—cESTifﬁ_{%?é 1> 33 xrT322>
x ¥ i Hcde s
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422~ R § B4

@ T331 5L FhA N, ¥ 21 AL~ 252 B b
oA FEE LY PRGBS KB - FRRLEE A

A P T2 T AR
Stepl : £ A% F ad” § £#E 5K

FABTEL RN o 20 m FEELE M, 20 M={13) -
M={12} ~ My={2,3} o ¥ 4 8 % fﬁé_;ﬂw?—%&%i RPN 2 p WREE G 3-
29) 0 AL E BT A S A S A 22,000 5 > F] oest; 23t B EAR

dost 4-13 S 0 vt AR A RN o

3
est, = X,,=22,000+0+0=22200( %) 7 4-13
m=1
BAHS 320 REL T ARSRBIGRN pRAE o £ 2P
ZLIEETL T ARz e R AT (38 3-30); A S A LBt
Bt 4- 14 9757 o HepA K2 2H E 3N e o B iR N2 % AT
P 4ot 4-90
cap™ ™ = est, x pt, =22,200x 24 = 532,800 (y{v'}) 7 4-14
%4-9 A SR RPIGEN 2 p HREE 2 o PR
T y] 1 PR demand
RS @) 2, | XaR) em=2&ﬁa)“ R o
! | @)
A 22,200 0 0 22,200 24 532,800
B 0 11,708 0 11,708 28 327,824
C 17,620 0 0 17,620 24 422,880
D 0 0 0 0 28 0
E 39,959 1 39,960 24 959,040
F 0 0 27,721 27,721 28 776,188
G 0 32,800 0 32,800 24 787,200
H 0 0 18,200 18,200 28 509,600
I 19,230 0 0 19,230 24 461,520
] 0 0 21,190 21,190 28 593,320
K 12,500 0 0 12,500 24 300,000
L 12,918 0 6,382 19,800 28 554,400
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max

max

max

d 38 3-30 REF2Z TRPIGRPN £ 2 F2 e IR R 0 28 4 02
Bl fEAE2 cap™ B (3% 3-31) 5 MR R ML 5 b L A K5
> H 5 ASB-~C~D> Fpt rcapld‘zm”"di (RS S ﬁ_ﬁ Z_4c Eﬁf"*ﬂfr'(}\ 4-
15) > 5% 4-16 % ;% 4- 17 & %] & reapi™™ % reapi™ ™ 2.3 B G 4% ©

,@qpfmwfzzgcqpﬁwmd=532300+327324+422380+0=1283504(f&)
r=1

reapy™™ =" cap®"" =959,040+776,188+787,200+509,600=3,032,028 ()
i =2

reap® ™ = cap™™ ™ = 461520 + 593320 +300000 + 532800 = 1909240 ()

=3

%ﬁ331%@1%%&w$u?%ﬁ%ﬁﬁﬁai%9m??éﬁ’
SHEF I REEPE A BT AN T RER T2 RS kY T RS
3-33)c R R AL S0 BT BT S SH5 120 Mereap ™ 2 B
FHL 1227V AN G B ESEIPE R BTE LY BN 1 2
7R BHEE 155 4-18)> @ 5% 429 2 N 4L00 A w3 E LY A2 32 F
Rl Bt ila N2 BEERL 410

demand | demand "]

rtap rcqp 71283504 | [ 1283504 | .
, = max s = max (1, 1) =1=reticle,
cap, cap, 2139675-41:2134665
demand | demand ] E 1B 7
rcap2 ’ rcap2 _ max 3032028 : 3032028 _ max ( 2. 2) — 2 = reticle,
cap, cap, 2134665 || 2132392
rea demand | demand ] r 91 r b
/2 ’ rcap3 _ max 1909240 ’ 1909240 _ max ( 1 1) _ 1 = reticle,
cap, cap, 2139675 || 2132392
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FAE T - fo iR TR AR R o

90

2410 LY ab " RIKERE %
demand demand 1w demand
cap™" e Z Gz, EEa | pegptennd i reticle,
S AR b ' e , AP (i#)

0 " . cap,,
A 232,800 1 0.5999 1
B 327,824
c rse0] ! 1,283,504 1
5 0 2 0.6013 1
E 959,040 2 1.4204 2
F 776,188

2 3,032,028 2

G 787,200 ; L4219 5
H 509,600 '
I 461,520 1 0.8923 1
] 593,320
= 000001 3 1,909,240 1

: 3 0.8954 1
L 554,400

Step2 : 3 k£ ¥ #f £ 7 &5
- hFRE Tk F R, 2 TR Lk E ) i
RS T I TS DTS (CN R R S SR




43~ 314 FEfeadiHes T8

Tabtz HEFEARL 1 B Q8 ) THZ RL 6 A RLE R
FAMBEER > U RFREAT L AR LA 0P o WP AT

& FERE AN LEEHE Kz

Casel - #* % éfﬁ/)f?\‘ k@ ﬁé &‘F‘—VE Hp R4 1% i‘t—ﬁ’ ERERER)

Case2 ' A ZAEEF Ik 77HIPF b2 7H B

Case3 : 1 {7 *h & A %: 1F]‘)§"‘ﬂ§#

Case4 : 337 H A ac i &2 i

Case5: Rl EFliplr > TEIHP 2 P27 EFBCREHFiEER)
Case6: § £ A H Y WPRFEOA M » I/ REFAEE

® EKFHR AN N RS k2

Case7 : AR %R XA FiEE - 2 =

CaseQ: L ZAFRH I F » 77HIPHp R 2375 F8
Case9 : L2 FFRApR > 7H X8 7 20 7 33

HP IR GHRFTL 4 6RB G faR AR maE? - SR8 3
Fh @ P2 k0w o Case6 P2 A6 27 H T > Bk fry mH 2 R

RN YT A 2 (R 4-28) 0 BB LR RE - A RE N

BRTE- L7 R4 4-31)0 RPFRGLEE2Z e A B AEZHT A
ATER B2 R fRIEAR o

€ EEFE AN A RN k2
Stepl : .3 = Fl37 <48+
Stepl-1 : R3] # B3 T8 41

F@%% 4-6 2 374 'Qu,t!p? o kPpst 3-1 2 0 3-2 REFEH e P
G A Fe(E TH S b2t & B =N 421 & oy E—3t 4-22)
S “ﬁ' 3 3-7 3 3% 3-8 35 2 due, ¥2 max(ready, due.;)?. % ¥=* ¥ (c)
FE LW ONT RRFFH 2T AN B S 10 F 1Y 5B
ARAr;N 4-23 3 38 4-24 Ao P E B R 2 R H FR Ao 4-11
%23t E {8 i~ Stepl-2 o

S 3
Ouppe;(l) = du_lesx OupperJ = \‘%X 40,000J = 47285 ( )‘TL )
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5

O =0, = D Opperiy =40,000-39,997 =3 () X 4-22
t=1
¢, = due, —max(ready,,due,) =3 —-max(0,0) =3 (%) N 4-23
cap,, =(1—dt, — pm, —eg,)xc, x24x3600
—(1-6 _24 _ _ () ;8 4-24
_(1 466 %464 0.05)x3xz4x3600_237,742
Z 4-11 0 2. F 8 %%
24| H pEA
8 P, 7 ready, due, ¢ Sy Oupper(t)
FRLEEL G | G | &) [ &) |Gy | capn | capa | caps | (k)
t ! ) ) (#)
1 1 0 0 3 3 3 237,742 237,185 236,932 4,285
2 2 1 1 4 1 1 79247 | 79.062 | 78,977 | 1,428
3 3 4 4 16 12 12 950,967 948,740 947,730 | 17,142
4 4 17 17 20 3 4 237,742 237,185 236,932 5,714
5 5 17 17 28 8 8 | 633978 | 632493 | 631,820 11.428

Stepl-2 i p=t= ¢, =1

j&-p\f\|/£l’p

Stepl-3 : #-% t# 5 » T & &
Bep o 2 RABFEH 1 A

7

T, %&

Stepl-4 :t 2 &3 &5 -HT?
WAH IR ¢ EHE (=D)L B G T(=5) 0 Fl i

Stepl-8 o

Stepl-8 : T ¥ t#HH 217 EZF A TR tH2

%’gr} ;$3-3234%

12
> d, % pt, + setup, =728,480+31,133=759,613 ) » £

i=1

(= ZCap 1 =237,742+237,185+236,932 = 711,859 )1* §i 14 {7 Fvi f fie

m=1

Q&ﬂ‘ﬁ@iﬁﬂb/%?"ﬁ%glf’ﬁﬁi hA A oo R

Step1-5 © ¢, =t, ¢, =min(T})

A BRET ), B
Fd BET={1}° b EFit,

try B9 Be2s L AT 0 Hery, 4 TS

B RE 5 g Stepl-3 -

MIN B

2. sg > Stepl-4 o

%tz 38 %1977 PR (demand ;=

t H oz

pRLAN

» Stepl-5 -

Boan 2 RGEH 1



Stepl-6 : ¢/, B FE3ES-HT?

o h BN, (D) BB F B - B T(=5) 0 Fi o
Stepl-7 -
Step1-7 : p=p+1

¥ Stepl-6 iy, F sdi- W T WAHIEF p B2 R
(p=pt+1=1+1=2) » I & » Stepl-9 o

R I E T Stepl-6 ¢ ¢, ¥ Efs - B T(=5)> 4 & » Step2e

7 = Stepl {517 3] Stepl-8 21t fu i % (& 4- 12)% & BARLIF Fl2 73

(% 4-13) -
% 4-12 Step1-8 2| %) & &
3
RBEY ¢ | demand,(£)) | Y cap,, (F) | B WA iR
m=1
1 759,613 711,859 LR
2 365,288 237,286 RN
3 3,303,411 2,847,437 RN
4 1,091,567 711,859 i
5 1,716,898 1,898,291 i
# 4-13 Rl FlAPM 731
R Ep 10 (3) 10 () T,
1 1 1 (1}
2 2 2 )
3 3 3 {3}
4 4 4 (41
5 5 5 (5)

Step2 : { #74 =% Rz fF

i~ Step2 ¢ > d Step2-1 B 4534 {7 o

Step2-1 : #~ 4Rk i ¢ s=fopo=Tfuew=0,n=p=1

-t
Step2-2 -

\\\?{r
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Bk s A de 2 R = forp= fuew=0,n=p = 1 2 {$&»




Step2-2 : tyin= tmax=t1y
SNt ENRIETE JOVOEIE SRS SOV EAN S G
(1) 2 38 » Step2-3 ¢

~

Step2-3 : tyax £F #2347
b HEr R T (=) E 3, (51) 0 F]pt i~ Step3 e

Step3 + CesT 2- tﬁ_{@ 19

d r331 J‘i??‘— 'F"'LL/% Bbif&lpbk“r* ] {%%—L CEST fi‘::; 1> I_}A]LLL-%;E)‘
Step3-1 -

Step3-1: K2 A& i 7 LEAH
# 4-14 Ff2 8 Bl(tuv=1, 1)z 775 T3

o ready, | due, A 5uF LEE ()
ape| B % RO ) | [AIB[CIDIE[F[G[H][I[TI]K
1 {1} | n2sas | {1} 0 3 | 5000 0 | 4070 0| 5100 0 | 3600 | 3500 | 2300 | 3000 | 2700
#-Step2 ¥ L ATZ RfEFE S 0 AN ARARHCGS L P 0 At g
4 TR, MO, | 2778 %%l ILOGHEF Ff2( "R,NO, ;| 2 TH =L pF
Bt ready, M 22973 FREFITE B R {1} & "B HB due; 2 1
T H St & OF{12345 28 FRiHEMR 1 24 4-14)
R AR HRE B A A 4SO R kel s
ZArA PN F SR E G R EE) o d AR TR M8 S 0 At R iE
I Eom AR % 2 % #(deltala,mt]=6, ,, ~ beta[i,i’,mit]=4, ~
X[L,m,t]=X; , ~ gamma[i,i’,mt]=y, ., > O[Lt]=0;, ~ Z[it]=Z;,) » [ ¢ & R3]
TP 2 RPN EE TSI FE(R F L RLE S FEA G A) o
# 4-15 K25 Fl(h=1, huy=1)2 R31% % (it A-1)
3 4, ;
e XY : A . o &
N el B2 53
delta[1,1,1]= 1 beta[0,1,1,1] = 1 beta[0,8,2,1] = 1 beta[0,7,3,1] = 1 0[8,1] =
delta[2,2,1] = 1 X[1,1,1] = 5000 X[8,2,1] = 3499 X[7,3,1] = 3312 0[10,1] = 2120
delta[2,3,1]1=1 gamma[l,3,1,1]=1 gamma[8,7,2,1]=1 gamma[7,11,3,1]=1 O[l1,1]1=4
| |delaB33 =1 X[3,1,1] = 4070 X[7.2,1] = 288 X[11,3,1] = 2696 _
-- -- gamma[7,5,2,1]1=1 gamma[11,9,3,1]=1 --
_ _ X[5,.2,1]= 5100 X[9,3,1] = 2300 _
- - - gamma[9,10,3,1]=1 --
_ _ _ X[10,3,1] = 880 _
&=
L e | 0070 ZR201=0 | Z301=0 | Z411=0 | Z511=0 | Z61]1=0 | Z{71]1=0  Z[811=0 | Z1911=0 | Z[101]=0 | Z{1L1]=0| Z[121] =0
£ o g
iz PLiE —155580 (f = & : 117,338 ~ ¢ ¢ & # 38242)
Tt D AE S = 1,120 TTH R = 174050 RjEpEE =411 4)

94




% 38 ¥ 8 Excel VBA (Visual Basic for Applications) > #-% 4- 15 2_ 33
FERpbEUSH R 0B 4-1 977 o

BlY Ti=1:(03), 273+ % 1272 AL TP apR
$0% % M37H2PY 532 > @RMERLIH T 2B o(he)2®
P A ENE ¢ BRI 2 BH T[], =2 ABE, EF A
7(236932 ,0) ) #1485 33 RBIFRP 2 FE 412 FIBT A0
Wo1 224282 87k T (21252163) ) Bl 7 % 12418 p £
el A FBCE R FIRT H b F o

< | 1: (0—)3) _I
T e ] 4 TAFHEZABERO0X>AH L3 |
Ist day 2nd day 3rd day
0 43200 86400 129600 172800 216000 259200
| — :
5 1I§ [1,11=5000 ﬂg [3,1]1=4070 — (226680, 11062:)
I : : i : L == 5
237184, 1
e 2'&& ( E)

| .
|(236932 0

B3\ Sy !
PR
" os - = - ML fleT AR
——————————— %, (2125, 2163)

WAL 1L AR e AR R (D fﬁ%ﬁﬂ PR T T
B 4- 1 128 B, fua=1) 5 % 2 4
Stepd : £F 7 AR 2 %
d Step3-1 £fzR% ¢ (£ 4- 15 1 imidr d5(8A%Y Z;
T % 0) F]pt i ~ Step5 o
StepS : .7 5 WP LRI > HHE?

PEEARLD T2 ARk o AR R R AT ED o AL DA R
- CHEHPTI BT A ébb‘/$$\‘J’.:’§§'r;—L‘ih'€%é‘ﬂb(§/)A’\ | &
1w&\1w’d%445?&&;1ﬁm%§ﬁﬁu®mmLu=n,ﬂ

POl PRl ASNYASB-C D e bikw 3 A 02 % RE ek
R =3 N ﬁé@f " %r23d%i%a%@ (1% 0

) EEpFLAZAR li 41 (0;=1 ~ 0492120 ~ Oy ;=4)
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2 FIRA G EF BRSNS D THIF
- I;I_i . fl;z-/,

5 i % i B AR P2 E 2% i ~ Step5-1 o

)

StepS-1 : & (tmin=1, tMAX—I)#’ Flp o $riEDNR
& d Step5-1 2 sk ® 1T{s > (1,
=1(3Z,‘YT# ﬁ;€ - :fNEW=tMAX) ’ 33— » Step6 °
EREZ1?
a2 B R fﬁfx‘?‘ﬂ'ﬁ/ﬁ\‘ il
(s=0) » ZF]pt & » Step6-1 °

& ¥z iz fyew ¥ &
Dz R FIP E T

T_ fvew =tmax

{w

Step6 - s Z_

tERR EAERL S 8T 13 3]

Step6-1: #4~ X fg T ¥ fupw P et & BB Jfo A T 4

== Sk B R RO S
& 97 *(18,000)FF 2_ B 7% > H|¥T %

R I L‘ '(]—r L
* Step6 |7 A4 {7 HHE A
12 1
(D.D.0, =1+2,120+4=2,125 )81 ¢} &
i=l t=l
;‘T:* 'J‘ 'g’\ Olower Elj-‘g‘ » Stepg °
Step8 . tMAX ‘SL?- -%f- *&ﬁsfé
B 2. hu(=1) 73 %3 I(=5) FUiE
Step8 -1: %”l} tM|N..L fNEWﬂﬁﬂtﬁa[ﬂP\
T A 0 T { AT 8 8k foLo=Tuew

AP B MR -

-FFT?
~ Step8-1 & 7 %773 A iy 2 #5 (7 o
PRELEG AU Y

Ry AR E ?Péﬁ}n]x\%‘r%ﬁii

T i% LA

1 t _
P(Xr=X,,,,05" =0, ,where t =fypp=1> 5Bl 4- 1) 55" 3-67 35 =
12 12
result __
t& %ﬁr ¥~ Eb ‘?° temp B! comm,l ZZ( 11m1+7/11m1)XSt +Z lml
i=0 i'=1
(4% 4- 16 “t7r) T L AT F P EK forpsew=1 > =+ b Fi5E ~
Step8-2 -
%\ 4 16 FJ—-TT %% l;ﬁ};g{fNEW_l @%_?_
Weom el pF tempy, |
- Boriixstor | Xi11 % pty 7 1,3,1,1%8113 X311 X pts
el =1x5700 =5000x24 =1x3300 =4070x24 - - - - 226680
o) Bos2iXsts Xs21 X pls 7°87.2,1%81s,7 X721 X pty 7 7521%St7s | X521 X pls _ _ 237184
L =1x7200 =3499x28 =1x600 =288x24 =1x2100 =5100x24
’b’k} “ 3 Bozsixsty; | X731 %X pt; 7 71130%St 1 | X131 X Pl 7 11931%Sting | Xosi1 X plo | 7 91031%to10 | X131 X Plio 236932
L =1x6900 =3312x24 =1x3000 =2696x24 =1x2100 =2300x24 =1x900 =880x28

96




Step8-2 : n=1
#-n2 B A5 1> T & » Step8-3 -
Step8-3 © tyax A_F £3%1,,,
d 3 fxmty =1 0 F1t i~ Step8-5 e
Step8-5 : p =p+1
{ ATRBIF B2 B 5L(p=p+1=1+1=2) » T i& » Step2-2 -

b R DN T e E R

THEBTE T Casel :
)J —11\}333@%&. °

d Step2 { 374 = ffrz H

1

s AL
R

g ﬁ"—‘ ﬁ}; ﬁ’fc(tMlN_ tMAX tMIN 2) ’ i

I

Step2 -3 lgf‘—" Tvax £ —E’ tMAX F*E i(bb .‘1:-\ 2) ’ #‘5“;3&)\

Step3(cEST=1) —E’E *

Step3-1 & iv # B PEA7 V8 (7 4% o
 4- 17 R34 B2, tuax=2)2- 77 H T ’ i
H.3 ready, | due, A &5 5 REE(F)
: R, o, R, MO,
S m(*)(HABCDEFGHIJKL
2 {2} | 2345 | {2} 1 4 0 | 3000 | 2300 @, | 2900 | 3100 0] 200 0| 400 | 400 | 500
*X R R % G T H B 2R Doy R 4- 17) 0 FofR il -k Kl
drd 4-18 0 T R-H E g U Y ER(BA-2)-
% 4-18 F i’qjv Bl(tuv=2, tuax=2)2- .31 5% & ("4 A-2)
PEY :
W sy L‘ S : e
FHp o1 o2 o3
delta[1,1,2] =1 beta[3,3,1,2] =1 beta[5,5,2,2] =1 beta[10,10,32]1=1 0[2,2] = 1849
delta[2,2,2] =1 X[3,1,2] = 2295 X[5,2,2] = 2895 X[10,3,2] = 400 0[3,2]1=5
delta[2,3,2]1=1 gamma[3,2,1,2]=1 gamma[5,6,2,2] =1 gamma[10,6,3,2] =1 0[5,2]=5
o) delta[332]—1 X[2,1,2]= 1151 X[6,2,2]1 =310 X[6,3,2] = 2313 0[6,2]1=477
~ - - 0[8,2] =200
O[11,2] = 400
0[12,2] = 500
H Bt
ir Z[12]=0 | Z[2,2]=0 | Z[3,2]=0 | Z[4,2]=0 | Z[5,2]=0 | Z[6,2]=0 | Z[7,21=0 | Z[8,21=0 | Z[9,21=0 |Z[10,2]=0|Z[11,21=0|Z[12,2]=0
4 T =g
iz P& =106,832 (f & & : 45804~ ¢t & & & 61,028)
&5 AR B = 1,120 4N =17,369; KjEpER =3.83 4
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A

2nd day 3rd day 4th day
129600 172800 216000 259200 302400 345600
S S R R e e — e S S - 1
et L | CU 0.
1 ;
# e 3 (78964, 13) |

[ SO —

P 3,21=5 [62]= =2 (3436, 155)
;té.»‘;ﬁ_‘% Q‘EP 22 B ﬂé‘b Z e é&'ﬁ] %%I?ﬁ;(fNEW—Z)

Bl 4- 2 Rj# 8 Bl(n=2, uax=2) 5% * 2 4 F §l

g% (£ 4 18)% & A# » & 775 %(Stepd) > >+ Step5 B Fl48 A
fe A R B FAe 2B TR W » B fnew=tuax=2(StepS-1) ° s
2B 5% 0 i~ Step6-1 > © & 2,125+3,436=5,561 |- **
Otower(=1,800) > typax * & B i

WH A8 i W X, 0is
=2 s B 4-2) 5 ¥ A w3 ‘- e " ea i (#5) % 90,308 ~ 79,060 ~
78,964(+ 5 = 23t Ak 1 ¢ éw@ Bt 7 1& ¥ i) 24 ~ Step8-2
Step8-3 ~ Step8-5 » A W] L 37 n 2. B iE(n=1) ~ L% tyx L2 1), B 2 B (2(H
HE 22 Rk p 2 & (ppt1=2+1=3) > B (S8 » Step2-2 ¢

O’e’"" O., , where t

it

P ERSIZ 27L TCase2 R RAAPFR IR 7ERIP I
2ZyENR O AFRBTERE ] RALEL N~ H 22 K2 ER -
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BRGE T AN B 0 0 Step2-2 L AT Ay

(tyv=taax=lyy =3) » % Step2-3 7 vty %3015, (
# 4-19 Rj2 8 Fl(hunv=3, tua=3)2- 77 H F 3

4

b Y

B

Bz o] ~ B
3)is & » Step3 o

"

#

Al ready; | due, A7 KRR ()
. R, O, R, MO,
Tt D1 A[B|C|D|E|F|G|H|I|J|K]|L
3 {3} | 345} {3} 3 16 | 12900 | 2000 0 | 10500 | 14900 | 17100 | 18500 | 9800 | 8200 | 12040 | 6500 | 12800
E} KD CEST'i f_—El'; :‘% 1> ﬂﬂ’b -E’E #* Step3-1 Z&EE * 'i#'f ﬁ}_ﬁ):i\‘ JIJT;TE %J‘%'fu
3(% 4- 1917 Rjg > MRH L EHFLL A 4-20> ¥ U4 FRERE 5
(F14-3) -
p 3, 3
S ey , "B , e
i # 1 # 5 2 B3
delta[1,2,3]=1 beta[1,9,1,3]=1 beta[6,6,2,3]= 1 beta[6,6,3,3]=1 0[4,3]1=10500
delta[2,2,3]=1 X[9,1,3]1= 8200 X[6,2,3] = 7895 X[6,3,3] = 9205 0[5,3]=1
delta[2,3,3]=1 gamma[9,10,1,3]=1 gammal[6,5,2,3] =1 gamma[6,8,3,3] =1 0[7,3]=1
delta[3,1,3]=1 X[10,1,3] = 8285 X[5,2,3] = 14899 X[8,3,3] = 8647 0[8,3]=1153
3 -- gamma[10,12,1,3] =1 | gamma[5,1,2,3]=1 gammal[8,7,3,3] =1 0[10,3]=3755
- X[12,1,3] = 12799 X[1,2,3]= 12900 X[7,3,3] = 18499 o[12,3]=1
-- gamma[12,11,1,3]=1 | gamma[l,2;2,3]=1 -- --
- X[11,1,3] = 6500 X[2,2,3]1= 2000 - -
H HE
e Z[13]=0 | Z[2,3]=0 | Z[3,3]=0 | Z[4,3]=0 | Z[5,3]1=0 | Z[63]=0 Z[7,3]1=0 | Z[8,3]1=0 | Z[9,3]1=0 |Z[10,3]=0|Z[11,3]=0|Z[12,3]=0
4 T =g
Fofz PiRE =814,372 (A8l + %7 536,978 ~ * & & & 277,394)
25 p AR Rk = 1,1205 5841058 =17,369 5 RjRpER =478 4)
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| I=3 : (3—16)
|

3rd day 4th day 5th day 6th day Tth day 8th day 9th day
259200 302400 345600 388800 432000 475200 518400 561600 604300 048000 691200 734400

v
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= = >
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820800 864000 907200 950400 993600 1036800 ’ 080000~ "‘ 1123200 1166400 1209600 1252800

g 1896 |

1296000 1339200 1382400

950952, 16)

(948736, 7)

(947732, 11)

Bl
B2
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(BALTNIL e s B - #h & § R HRE S - - - - - 1 T23151)
& 4-3 T\ﬁi% Bl (=3, tyax=3) % % 2 4 FF 8l
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3t Step5 A& 4-20 ¢ B AR A A R G o T F flARA N T
fFAc1 (/% i%ﬁ‘ ¥ ""’ & - ) ’ rﬂm LA StepS 1 i ’TTfNEW'L 1= ,~.:~ tMAX(=3) ;
2 % BB A 0(Step6)’ 5 HpAe % 7]E ¥ fupwEP 2ot e iR x e £

L eh R T (ZZOM =2,125+3,436+15,411=20,972>0,,., =18,000

i=l t=1

Step6-1) > i& » Step7 *F & it #8541
Step7 @ * & FBAFHER B H]
Step7-1 . { Fr ;g‘: s=1 % Cyps=1

-5 % cpps 2o 2}:@'{@;{ 3L 1 {8 Step7-2°

F_k

Step7-2 : CesT & Cups 2= E R FE 4P R ?
Cest % cups - F¥EE 5 10 F]Ut i~ Step74 o
Step7-4 : &4ty I TH PR P > 4ot @ 32 i )

ek DA REARES e 38361 158 3-66 4| 0
SRBEIWIT SR I ET ERRS (N 4-25 3 5 4-30) ¢

EE LR Ll

Vi
Oi,t = Yi,t XQ ;\2 4-25
fort=3,...,5
Vi
Y, <0, 5\ 4-26
fort=3,...,5
Ihax
=t Yi’t < OYI XQ Vi 5‘ 4-27
0y, < Z Y, Vi 3 4-28
12
2.0Y <0, =6 3 4-29
i=1
Ihax
2. 0020, +(0Y,~1)x 0 =6+(0Y,~1)xQ i X 4-30
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Step7-5 : £ A7 KjR(tvin, tvax) BF B2 A 2143

B TAG A RS EATRE AR B (=3, ) °
%k 4-21 1\}?74% ]f](fM[N::;, tMAX:3)7~ o %ﬁéﬁé‘{ﬁ/ﬁ\‘ iﬂa%'}%’—% (Kﬁ’&“" A-4)

Nl S , = , &
T #e 1 #e2 #e3
delta[1,2,3]=1 beta[1,9,1,3]=1 beta[6,6,2,3] =1 beta[6,6,3,3] =1 0[2,3]1=7
delta[2,2,3]1=1 X[9,1,3] = 8200 X[6,2,3]=7901 X[6,3,3]1=9199 0[4,3] = 10500
delta[2,3,3]=1 gamma[9,10,1,3]=1 gammal6,5,2,3] =1 gamma[6,8,3,3] =1 0[7,3]=10
delta[3,1,3]=1 X[10,1,3]=12034 X[5,2,3] = 14900 X[8,3,3] = 8661 0[8,3]=1139
3 -- gamma[10,12,1,3] =1 | gamma[5,1,2,3]=1 gammal[8,7,3,3] =1 0[10,3]=6
-- X[12,1,3]1=9050 X[1,2,3]= 12900 X[7,3,3] = 18490 0[12,3]1=13750
-- gamma[12,11,1,3]=1 | gamma[l,2,2,3]=1 -- --
-- X[11,1,3]=6500 X[2,2,3] = 1993 - -
H o
Z[13]=0 | Z[2,3]1=0 | Z[33]=0 | Z[4,3]=0 | Z[5,3]=0 | Z[6,3]=0 | Z[7.3]=0 | Z[8,3]=0 | Z[9,3]=0 |Z[10,3]=0|Z[11,3]=0|Z[12,3]=0

S 7|
R

P B =814,384 (p fl = ~ 536,988 ~ ?t & = & 277,396)

AR Rl = 1,144 5 ] = 17,4315

TR =4.66 F)
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I=3 : (3—16)
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B
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;|< PRANAE
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I — e p——(
Y T T LA
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Bl 4- 4 Ff2 8 B (=3, tuax=3)% % 2 4 B B4 » *h & BT SR
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0 Step8 v fyyy A 5 Befd - W (3#5) 0 42 4 & Step8-1 iy f R
¢ 2Bk (X = 0" =0,,, where t =fypy=3) » T & Il - S
FA () {785 29 #&
JoLo(Sfxnew=3) °

4w % Step8-2 ~ Step8-3 ~ Step8-50 { #7n 2

zmt’

950,952 ~ 948,732 ~ 947,740 -

¥ oW

r;&

LE'_ ,;\ 1 N :]EJ'J tMAX tMIN

3)~ MR { &7 p 2w (p=pt+1=3+1=4) -

BAFHRR B0 R G 5

l—b"
»

=

fAp
MR L TCased: ®RiFehe

EIE- A % S iR E

3 Step8-4 { ATH M2 16 0 fo Step2-2 € #7h % KFEFEZ Bl - B

;E'F &(tMIN:tMAX: tj/l[N :4) Ry Step2-3 %F’ 3 tMAX i KD j/IAX ( s ?} 4) %; 3@ » Step3 °
% 4-22 Fj% #’ Bl (=4, tyax=4)2- 7 HE F F‘ #

H ready, | due, A& T T\g’:ﬂ( )
ape| B O R’mo’(*)(*)ABCDEFGHI J K| L
4 {4} {4,5} {4} 17 20 1000 | 40007 46507}, 1700 | 7300 | 7500 | 4900 0 | 4960 | 1000 | 2900 | 1300
Cpst2- B & 1 8% Step3-1i Alie # P AR\ 4137 H %5 4(% 4- 22)
T RFE 0 ML R ek 4030 B A HE R L5 (Bl 4-3) o
2 4-23 K12 i Bty dncd) 2 L 1 % % (4 A-5)
ip 4, 2
e XY _ b _ o &
FHp ®eol 52 o3
delta[1,2,4] = beta[11,11,1,4]=1 beta[2,2,2,4]=1 beta[7,7,3,4] =1 0[2,4] = 2687
delta[2,2,4]=1 X[11,1,4]=2900 X[2,2,4]=1313 X[7,3,4] = 2486 0[4,4] = 1700
delta[2,3,4] = gamma[11,12,1,4]=1 | gamma[2,1,24]=1 gamma[7,5,3,4]=1 0[6,4] = 3206
delta[3,1,4]=1 X[12,1,4] =631 X[1,2,4]=1000 X[5,3,4] = 7298 0[10,4]=6
4 -- gamma[12,10,1,4] =1 | gamma[l,3,2,4] =1 -- --
X[10,1,4]1=994 X[3,2,4] = 4649
gamma[10,9,1,4] =1 gammal3,7,2,4] =1
X[9,1,4] = 4960 X[7,2,4] =2414 -
ARt Z[1,41=0 | z[2,4]=0 )| Z[3,4]=1 [l z[4.41 =0 | Z[5.4] =2 Z[7,4]1=0| Z[8,41=0 | Z[9,4]=0 |Z[10,4]=0Z[11,4]=0 Z[_12’4]
A& =669
f12 PR E =406,212 (p = & : 120,456 ~ #b & & & 136,782 ~ A » & & 148,974)
w5 DA R B = 1,144 TN =17431 5 RjEEER =473 4

Stepd : £33 A4 2 &

d % 4-237¢ @ %

4489 C~E~F~%2 L % 51

Z5)4=2, Za4=4294, Z]2)4=669) ’ I_'ﬂll'b 3@ » Step4—1 °
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Stepd-1: A % EE R TR ¥ o

G AP AR E 2 kB v e W FEAET LI E |

A

LS

2 AT Gt ERAE R Ao R KL e

Flet g ‘#Fﬂi TH ”“‘JL { Frdvk 4-24> 4 ¢ e {ERIIP 2 ¥ g L)
% Lﬁ;nﬁ ES S
% 4-24 K24 Bl (=4, tuax=4)2- 77 H TG A% )
= a
RAIEH 1 A& Lg‘ (*)
A B C D E F G H I J K L
RE Fic g 1000 | 4000 | 4650 | 1700 | 7300 | 7500 | 4900 0| 4960 | 1000 | 2900 | 1300
4 A Ao R 4294
T DR R R R AT TR
Big 182 3T H F R(F 4- 24)E F7 Step3-1 FfE o B E AR A
4-23 5 % % A% 4 B H(H 4-5) :
ia 4 2
T4y #eol #He2 o3
delta[1,2,4] = beta[11,11,1,4]=1 beta[2,2,2,4] =1 beta[7,7,3,4] =1 0[2,4] = 2687
delta[2,2,4] = X[11,1,4] =2900 X[2,2,4] = 1313 X[7,3,4] = 2486 0[4,4] = 1700
delta[2,3,4] = gamma[11,12,1.4] = 1| | gamma([2,1,2.4]= 1 gamma[7,5,3,4] =1 0[6,4] = 3206
delta[3,1,4] = X[12,1,4] = 631 X[1;2:4]= 1000 X[5,3,4] = 7298 0[104]=6
4 -- gamma[12,10,1,4] =1 *| gamma[1,3,2;4] =1 -- --
- X[10,1,4]1 =994 X[3:2:4] = 4649 - -
-- gamma[10,9,1,4] =1 gammal3,7,2,4] =1 -- --
- X[9,1,4] = 4960 X[7,2,4] =2414 - -
H
4= Z[1,4]=0 | Z[2,4]=0 | Z[3,4]=0 | Z[4,4]=0 | Z[54]1=0 | Z[6,4]=0 | Z[7,4]=0 | Z[8,4]=0 | Z[9,4]=0 |Z[10,4]=0|Z[11,4]=0|Z[12,4]=0
Z 2
$z PL i =257,238 (f = & : 120,456 ~ #t & = & 136,782)
®5% VAR R = 1,144 5 I8 =17,431 5 RfEpFER =425%)
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1252800
-

15th day
19500

| I=4:(17—20) |

|‘ V|

16th day 7th day 18th day 19th day 20th day
1339200 1382400 1425600 1468800 1512000 1555200 1398400 1641600 1684800 172800C

(237740, 2)
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(236916, 16)

s
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=4 : (7599, 0) .

[10,4]=
B 4-5 3“)‘@5" Bl (=4, tuax=4) 5% % 2= 5§l
£4-24 9 3 E AP & 5(Stepd) 0 d AN B R(EEYHEE-)F
- f;v\#t 250 » W75 f22. ¢ (StepS): ** StepS-1 L 37 faew & tuax(=4)° 227 >
-i‘.-’
s2 5 1> Fpt i ~ Step8 )%’" ‘%s},& C BT R L E@425)

F]@ & » Step8-1:3t Step8-1- &. % (Xr=X,,,,0=0,,
where t =fypy=4) » T A %3 ; é}_gﬁ c(F)) & 237,740 ~ 237,176 ~
236,916 > x ® { F7#7 z%ﬁ*ﬁP'% 4) ¢
By o

tuay £ty 10 E (% 5 A CFRICAT p B RjET B R ERF
(p=pt+1=4+1=5) -

PR L TCased: DI H A% 82w o

* Step8-4 { ATH #e2 16 0 B Step2-2 { ATA X KfE R S B

B Be(byv=tuax=thgy =5) 3 Step2-3 17 50ty 2815, (F 5 S)fwé » Step3e
% 4-26 3§ B(Gav=5, tuax=5)2 37 & F 3

3.4 ready, | due, A&HE Lg‘:ﬂ( )

. R, O; R, MO,

T 1 Pl | [ABICIDIE|F G| H]I J [ KL
5 {5 } {5 } {5 } 1 7 28 3300 11550 6600 1100 9760 9520 5800 4700 3770 2750 0 5200

W * Step3-1 A it 7 TP AR N 37 H %3 S 4-26)it 7 2 F3(F cugr
2L 1) BRI ek 4-27 -
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4 4-27 F12 8 Bl(tyn=5, tuaxr=5)2 2LH % % (45 A7)

Nl S L = , &
i 0 1 # 52 P53
delta[1,1,5]=1 beta[9,1,1,5]=1 beta[7,7,2,5] =1 beta[5,5,3,5] =1 delta[1,1,5]=1
delta[2,2,5]=1 X[1,1,5]=3300 X[7,2,5] = 5800 X[5,3,5] =9760 delta[2,2,5]=1
delta[2,3,5]=1 gammal[1,2,1,5]=1 gammal7,8,2,5] =1 gamma[5,9,3,5] =1 delta[2,3,5]=1
delta[3,3,5]=1 X[2,1,5]=11550 X[8,2,5]=4700 X[9,3,5]1=3770 delta[3,3,5]=1
5 -- gammal2,4,1,5]=1 gammal8,6,2,5] =1 gamma[9,10,3,5] =1 --
X[4,1,5]=1100 X[6,2,51=9520 X[10,3,5]1=2750
gamma[4,3,1,5]=1 -- gamma[10,12,3,5]=1
X[3,1,5] = 6600 - X[12,3,5] =5200
H HE
%5 Z[1,51=0 | Z[2,5]1=0 | Z[3,5]=0 | Z[4,5]=0 | Z[5,5]=0 | Z[6,5]=0 | Z[7,5]=0 | Z[8,5]=0 | Z[9,5]=0 |Z[10,5]=0|Z[11,5]=0]Z[12,5] =0
iz PLiE =325,840 (f H = A : 325,840)
z5 p AR R = 1,144 5 LI =17,431 5 RjEpER =480 4)

% 4-279% F AE ~ & 52 75 (Stepd) > d 2 E e LHE FRY > B8
R AT REASE NS ERTN NN S TS L ) L s
i% i (StepS) » % StepS-1 L &7 fvew i B max=5) °

E} > S:1 FT‘J@E; _%E)‘ Step8 2 ﬂ'bfg fMAX?;LE‘tf:Z\ ﬁx%é“ ;E'P T(:5) ’ E/E—)‘
Step9 -

Step9 : I F TH2 e E /el T A e £HTRY
WA B R R HLFET o2 s R
1300, = 2,125+3,436 415,412+ 7,599 = 28,572 4.5 B % 4 300k & £ 7 0T

P
(28,572>18,000) » F* i » Step9-2 -
Step9-2 : Cest & CypsZ EX E 4RI

B3 cpsr ¥ ocups 2 EARR(F & 1) FIM ARG ARBIE R S A4 AR
o B isH08 % 2 RAIEE IR 464

FTHBBEL A4S 2R TS TCaseS: AR RAPEAR  TEIY A
Pz EFRGREFFEEe), -
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< b
| =2 : (1—4) |
A . >

B =1 : (0-3) R |
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518400 561600 604500 648000 691200
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[8,1] =1 [11,1] = 321=5+[521=5  [23]=7 I=3 : (3—16) R PEARTE | =5:(17-28)
| > «  =ra7-200
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i
|
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s
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7,31 =10 [10,3] =6 I=5:(17—28) >
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19th day 20thday 2lthday Dthday Bihday Uhday 25th day 26th day 2Tth day 28thday

1641600 1684800 1728000 1771200

181440 1857600 190080 194400 198720 030400 WIS 01680 2160 15 146400 29600 280 27600 900

[10,4] =6 108



B Case6: ¥ L £ E P @R OFHE RS FRRALFESE

N %ﬁfr‘é%ié B AT R 237E TR 4 6)
AR B (£ 4-28) 0 B R RLIEAQ8 X)L g R
Fopz o
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BBl | R o(R) | #(R) A B C D E F G H I J K L
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4 O 20 1000 4000 4650 1700 7300 7500 4900 0 4960 1000 2900 1300
5 O 28 3300 11550 6600 1100 9760 9520 5800 4700 3770 2750 0 5200

WARGEL 0 AT E AR M RH B AN D BRSNS (4 4
29); B¢ o d N E A4 I HEHNEFLEOG R RSB RALL 4 6% 45
HY5 17XFRE22%F)> %-;Kfﬂ%l6%,1_174 e AN
% 4-29 Caseb 1P iz 8 &%
w3l | ¥ pEA
e . D 7 ready, due; ¢ Sy Oupper(t)
EW DO @) @) | ) [ | )| capu | capy | capsi | ()
t ! #) ) )
1 1 {1} 0 0 3 3 237742 | 237185 | 236932 4285
2 2 {2} 0 0 4 1 1 79247 79062 78977 1428
3 3 {3} 0 0 16 12 12 | 950967 | 948740 | 947730 | 17142
4 4 {4} 0 0 20 4 4 316989 | 316247 | 315910 5714
5 5 {5} 0 0 28 8 8 633978 632493 631820 | 11428
¥4 4-29 7z %Eﬁ;t}* *FL:i'J}:t;EF (tM[Nzl > tMAXZS ‘fOLDZO)Tx‘ » ;“ 3- 34 -~

F43-40~ 2 503235 Bt A NRLIEAY KfF e KA o d N REL R
T H 2 BBE U S (AR B 5600 B~ FLd) 5N 88657) 0 H R gt
7P E T AT R o

FEEL R P Ry =]~ g =52 RBFF A F (G,
tax=3) % (tuv=4, tax=5)7 817 » #m L IR( =1, hux=3) R3] 5% * (& 18 4
A& FIRT A0 2 e Bl F)ITE B F (T4, =S B
GBS B R g E TS B T KR B R dod 4 30 5
G w2 Y EF(R A DR
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304-30 BAPEREE 00 £12 5 Bl(hun=], ua=5)2 R3] % % (4 A8 2 A9)

ey ‘ "’ ‘ e
T el #e 2 #e3
delta[1,1,1]=1 beta[0,3,1,1]=1 beta[0,7,2,1]=1 beta[0,11,3,1]=1 o[L,1]=
delta[2,2,1]=1 X[3,1,1]1= 6265 X[7,2,1]1=3601 X[11,3,11=3100 O[3,1]=
delta[2,3,1]=1 gamma[3,1,1,1]=1 gamma[7,8,2,1]=1 gamma[11,9,3,1]1=1 O[10,1]= 2552
delta[3,3,1]=1 X[1,1,1]=3265 X[8,2,11=3504 X[9,3,11=2312 -
1 -- -- gamma[8,5,2,1] =1 gamma[9,10,3,1]=1 --

- - X[5,2,11=1756 X[10,3,1]1=448 -

-- -- -- gamma[10,5,3,1]=1 --

- - - X[5,3,11=3375 -
delta[1,1,2] = beta[1,2,1,2] =1 beta[5,6,2,2] =1 beta[5,5,3,2] =1 0[2,2] =226
delta[2,2,2] =1 X[2,1,2]1=2774 X[6,2,2]=2769 X[5.,3,2] =2867 0[3,2] =104
delta[2,3,2] =1 -- -- gamma[5,6,3,2] =1 O[5,2]=2

2 delta[3,1,2] =1 - - X[6,3,2] =331 0O[8,2] =197

- - - - 0[10,2] =400

- - - - 0[12,2] =500
delta[1,2,3] = 1 beta[2,12,1,3]=1 beta[6,8,2,3] =1 beta[6,6,3,3] =1 0[6,3] = 12096
delta[2,2,3] = X[12,1,3] = 8956 X[8,2,3]1=9799 X[6,3,3]1=5004 0[9,3]1=
delta[2,3,3] = 1 gamma[12,11,1,3]=1 gamma[8,4,2,3] =1 gamma[6,7,3,3]=1 O[11,3]=6
delta[3,1,3] =1 X[11,1,3] = 6494 X[4,2,3] = 10500 X[7,3,31 = 18499 O[12,3]1=3844

3 -- gamma[11,9,1,3]=1 gamma[4,2,2,3] =1 gamma[7,5,3,3]=1 --

- X[9,1,3]=28184 X[2,2,3]%:2000 X[5,3,3] = 14900 -

- gamma[9,10,1,3] =1 gamma[2,1,23]= 1 - -

- X[10,1,3]1= 12040 X[1,2,3] = 12900 - -
delta[1,1,4]=1 beta[10,2,1,4]=1 beta[1,5,24] =1 beta[5,5,3,4] =1 0[6,4] = 2327
delta[2,2,4]=1 X[2,1,4] =4000 X[5,2,4]= 7246 X[5,3,4] = 0[10,4] = 1000
delta[2,3,4]=1 gamma[2,1,1,4]=1 gamma[5,6,2,4] = 1 gamma[5,7,3,4]=1 0[12,4] = 1300
delta[3,3,4] =1 X[1,1,4]1=1319 X[6,2;41=5173 X[7,3,4] = 4900 -

4 -- gamma[1,3,1,4] =1 -- gamma[7,11,3,4] =1 --

- X[3,1,4] =4980 - X[11,3,4] =2900 -

-- gamma[3,4,1,4] =1 -- gamma[11,9,3,4] =1 --

- X[4,1,4]1=1700 - X[9,3,4] = 4960 -
delta[1,1,5]=1 beta[4,4,1,5] =1 beta[6,6,2,5] =1 beta[9,9,3,5] =1 -
delta[2,2,5]=1 X[4,1,5]=1100 X[6,2,5]=9520 X[9,3,51=3770 -
delta[2,3,5] = 1 gamma[4,3,1,5]=1 gamma[6,5,2,5] =1 gamma[9,10,3,5] =1 --
delta[3,3,5] = X[3,1,5] = 6270 X[5,2,5]=9760 X[10,3,5]1=2750 -

5 -- gamma[3,1,1,5] =1 -- gamma[10,12,3,5]=1 --

- X[1,1,51=2981 - X[12,3,5]1=5200 -

-- gammal[1,2,1,5]=1 -- gamma[12,8,3,5] =1 --

- X[2,1,5]= 11550 - X[8,3,5] =4700 -

- - -- gamma[8§,7,3,5] = 1 -

- - - X[7,3,51=5800 -

ZI[L1]1=0 | Z[2,1]=0 | Z[3,1]=0 | Z[4,1]1=0 | Z[51]1=0 | Z[6,1]=0 | Z[7,1]1=0 | Z[8,1]1=0 | Z[9,1]=0 | Z[10,1]=0 | Z[11,1]=0 | Z[12,1]=0
: Z[12]1=0 | Z[22]=0 | Z[32]=0 | Z[42]=0 | Z[52]=0 | Z[62]=0 | Z[72]=0 | Z[82]=0 | Z[92]=0 | Z[102]=0 | Z[112]=0 | Z[12,2]=0
%;';\ Z[13]=0 | Z[23]=0 | Z[33]=0 | Z[4,3]1=0 | Z[53]=0 | Z[6,3]1=0 | Z[73]=0 | Z[83]=0 | Z[93]=0 | Z[103]=0 | Z[11,3]=0 | Z[123]=0
- Z[14]=0 | Z[2,4]=0 | Z[3,4]=0 | Z[44]1=0 | Z[54]=0 | Z[6,4]=0 | Z[7.4]=0 | Z[8,4]=0 | Z[9,4]=0 | Z[10,4]=0 | Z[11,4]=0 | Z[12,4]=0
Z[1,51=0 | Z[25]=0 | Z[3,5]1=0 | Z[4,51=0 | Z[55]1=0 | Z[6,51=0 | Z[7.5]1=0 | Z[8,5]1=0 | Z[9,5]=0 | Z[10,5]=0 | Z[11,5]=0 | Z[12,5]=0
Ffid | 10 [iEoriE = 1,059,114 (F Bl A 672,828 & F A 386,286) iR W =3,396 1 *UHI =53,118 1 KRR =2083.81 §
BEE | 2™ | p i =577,204 (p Ak 1493918~ thé A A 83,286) ; A H# =2,264 TH|F =35255 5 KRR =352.67 4
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< - >
=5 : (0—28)
- b
I=4 : (0—20)
“ s
N I=3 : (0—16)
=2 : (0—4) | |
7 >
sy =100 (03w ldey dihday Sty fihday Thday $hday 9hday
oll 8540 12960 780 21600 500 040 S0 355800 00 50 s10 S6160 604500 64800 120 T340 17760

S ———r——— e

[3,2] =104 ~ [5,2] =2

[

| -
. >
I=5 : (0—28) q
=4 : (0—20) | >
| -
. >
10thday 11thday iy 3 1 (0—16) By 4hday 5thday 16thday Thday 18thday
KZQKOO 86{000 9073200 95Q400 99%600 103@800 1089000 112§200 B .'-"n' ; 1209600 1252800 129{}000 133?200 138;400 l42§600 146?800 151;000 155?200
1 1 1 1 - W 1 1 1 1 1 1 1 1
< ™
#e3 A R 3
. : N
| 19,3] =4 3
b &
:I
ol I=5 : (0—28) !
I=4 : (0—20),,|
19 day “( ity thday Dihday Dihday hday 2thday Yihday ihday 2Wihday
1598400 1641600 684800 1728000 177 1200 1814400 1857600 1900800 19440(]0 1987200 2030400 207360() 2116800 21600()0 2203200 2246400 2089600 2332800 2376000 2419200

E-_M_____ 16075254171

[12,4]= 1300

e E S 26204 % Bl 4-7 RLIMF A 28 % 2 3] %% % (Caseb)
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€ X TR LA LG RfRL

Tﬁ :l‘%'—ia?.‘

LEP T AN AR R 2 H S B 4312 H E KT
SRR o d 33 AN GER A m R EEP o At L LD
FEFARP G BRARGEHERE RS 2 g2 = A M b e &2
<Opower) > FFi8T 3424 AREALIHE -
# 4-31 RAEFFHmE TR
TE | ARad | ER A5 R #@tﬂ( )
%%U%?(*)EF(*)ABCDEFGHIJKL
1 0 14 5300 0 5000 1000 | 18000 | 10500 0 0 6000 7500 4500 0
2 5 14 4500 4500 0 2000 6000 7500 9400 9300 0 5500 4000 5800
3 14 20 0 2770 3500 1000 0 7000 9000 5000 5500 0 5700 3500
4 14 28 5000 1500 5000 0 | 12000 0 9500 9000 5000 8000 0 7000
Tt gH 33 AN G E e P E RS d W HEF344 A RE
LB PERE R 0 AL REED N 431 S E At RS
AR XPERF(EEDLE SR .i’-"“rp T;TE AAL SR BHE ] B
RMGEER RN 3- 193 2 3-2F8 A (2 =1 5 6] 0 3+ 5 Bz
4-32 % 3% 4-33 #por ) 0 R B S BEET AT 2 4-32 o
ready, = Ifelli)fll(”;) =min(0,5)=0 (&) X 4-3]
z Zst”,
— e e 612600
St begin = = = ~3926.9231 (#) X 4.
HTUST S ikt 156 () 3 4-32
ierf" i'el,
setup, = Stwegn x D i =3926.9231x12 = 47123.0772 (§)) N4
iel + B
4-32 RE L HERGEE
13FH | TH e I D ready, due, setup,
t ! ’ ! (%) *) | ) #)
1 {1,2,3,4,5,6,7,8,9,10,11,12} 0
! 2 {1,2,3,4,5,6,7,8,9,10,11,12} .2} 0 14 47,123
2 3 {2,3,4,6,7,8.9,11,12} (3} 14 14 20 32,130
3 4 {1,2,3,5,7,8,9,10,12} {4} 14 14 28 33,067
LR B RANAL L AR RRINE > d Stepl RAFFT
TS B s 0 3 Stepl-1 3+ 5 4p B 2. S8k 122%)3‘;% 3-1~583-2z a3\
B3R ouper® oy (34 4- 34 2 3% 4-35) 5 A T cpgrm2(K-® T A A L P
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PR (T RfR) FIF RN 3-3 P A S H T Ve 2 B E o
TH ] 5 Gl (N 4-36) T A R et s H AR

§ e BTG A T Ot P R34 E
T‘:—TE Olower(l) B2 Oio;er - 4- 37) *&ﬁé‘
Y50 3-7 2 58 3-8 B ¢vcapy, M S 1N RPIFY 15 B

4-38 5 3N 4-39 0 B fs M- ik Sl I 4 4-33 o

et e LT L@ Y F

22 —\

% _{ 3 J _ n .
0poriy =| ——x0, . |=|=—x40,000 =4,285(*%) X 4-34
ipper (1) {dues pp J 28 X
5
Ol = 0ypper = D O = 40.000-39,997 =3 ()  4-35
t=1
12
24, 57800
_ i=1 _ _ L+ N
Olawer(l) - iid X Olower = “221270 XlgOOOJ = 4,701 ( 1 ) ;\‘ 4_ 36
i=1 [=1 o
. 4
Oty = Otoer ~ ;%@r(» =18,000~17,997 =3 (%) ¢ 4-37
¢, = due, —max(ready,,due,) = 14 — max(0,0) = 14 ( %2) ;4 4-38
cap,, = (1—dt, — pm, —eg,) x ¢, x 24x3600
_(1_6/ _24/ _ ) (#7) X 4-39
_(1 466 %464 0.05)><14><24><3600_ 237,742
% 4-33 a8 S¥cz R B 2%
ES ) =T é_ 3 ]
fﬁdij Z E Cy St B ﬁl Hb Oupper(t) Olower([) demandt anpm,t ;?}
FHp jn%i (; ) (;( ) capj capr caps ¢ ( 11,1 ) ( ,1,1 ) (f”/) =l A+ HE
f ) () (#) ) | R
1 4,701 .
1 5 14 14 | 1,109,461 | 1,106,863 | 1,105,685 | 20,000 4758 3,052,723 | 3,322,009 | * & §
2 3 6 6 475,483 474,370 473,865 8,571 3,495 1,140,490 | 1,423,718 | &% ;‘
3 4 8 8 633,978 632,493 631,820 | 11,428 5043 | 1,623,067 | 3,322,009 | k&
 Stepl-2 #-pts Bl 2 BRTE 1o R=l A T EE2ZP
(Stepl-2) > d »* ¢ 2 5 B té - H(1£3) > Fpt & » Stepl-8 > +* #& demand, (3"

4- 40)¢= Z:capm’1

m=1

7 %
%

2R

R 2 B

% 1£(3,052,723<3,322,009 » A & §¢)> i » Stepl-9

Se(=t+1=1+1=2) » = | Stepl-3 #- =2 7| » T, F &2 - §
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FIHFEARTET 2 S FE A 4-332 £ 4-34 € H B FE T =3
Pé >3t Stepl-4 2| %5 Bt — ¥ Ti& > Stepl-5> L A7% 1 BRF1H Fh ]
B (1, =min(7)=min{l,2,3} =11, =t=3)" B (& *" Stepl-6 {¥ &v1, ,, =
B - T(% 5 3)» == Stepl R\ Flim T +4] » & » Step2 -

12
demand, = Zdi,l x pt, + setup, = 3,005,600+47,123 = 3,052,723

2 < 4-40
% 4-34 RP1F R M TR
S35 F p iy () By () Ty
1 1 3 {1,2,3}
&~ Step2 B 4 A7 = RfR 2§ F 3 Step2-1 3% T~ 4tk i (s=foup
= fyew=0,n=p=1) > Step2-2 ¥~ tyy;n * tyux2- E L F7 5 t,,, (=1) » ** Step2-3
JI?*K 4 Tvax * RNy MAX(1¢3) E] ‘57‘ StepZ -4 o
Step2-4 : % tyax P22 PP  EEFFEBILZ Re RS9
,,\ﬂk'HjE'T 975 1 Hp 2 R P(F 14%) FE iz e gz
2 (r,<due, =14, for lely=12,3,4)) B¢ =2 2 G2 AT L% 5
X TP 3% A2 R RARBRFEIS04 x2S H 2 Fle
B P 3Y &3 14 X 5 Tt iE ~ Step2-5 ¢
Step2-5 : ready, E_F ¥ 3 ready, .,
HIET =D E Gyt (F2)D B2 B R R SR L E AR 0 @ ready,
& 0 ready, 5 % 14 % > F]3 {7 gl @ d Step3 o d ** cpr2 B 5 20 i
» Step3—2 A L R PEEARRGNE (T ]l\}l"* °
Step3-2 : Kfz & it b TP AN
1 t . I Jfow
z z Oi,t' 2 Z Ojower(1 +0dal};gr ZZOit,ezmp Jor 7\ 3-57
i=1 t'=ty;y le(R,ND,) i=l =0 =tyn, .-, tax
# 4-35 XF 8 1 KiEE RG], fMAX=1)‘~ TH TR
3 ready, | due, A&u 7 j‘&ﬂ( )
ane| # | 9 R0 S | O ATBTETDTEIFIG[HITTTTX
1 {1} {1,2,3,4} {1} 0 14 5300 0 | 5000 | 1000 | 18000 | 10500 0 0| 6000 | 7500 | 4500

d CEsT 2- ,_,;\ 2> E Step3 -2 '1)‘?—) g i«#kﬁi’]{ﬁ—} ‘E]’” T\}?* ° jg_)’z
FrH 3 P EA 4o 2 TN 3- 574 r T A A A B ARfIN 0
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¥, st
= & AL v

BEARHCS o RN AL R 1 B2 3 H (R 4-35) B 4o kR o

MRS R ETE L 4360 FHER AN EE

40 4-36 N EHE #1238 B (=], )2 R3]S % (s A-10)

18 3 ;
gl IS S : R , e
hl #c 1 # 52 B -3
delta[1,2,1]=1 beta[0,9,1,1]=1 beta[0,4,2,1]=1 beta[0,6,3,1]=1 0[3,1]=204
delta[2,2,1]1=1 X[9,1,1] = 6000 X[4,2,11= 1000 X[6,3,1]1 = 10500 O[11,1]=4500
delta[2,3,1]=1 gamma[9,10,1,1]=1 gamma[4,3,2,1]=1 gamma[6,5,3,1] =1 --
1 delta[3,1,1]=1 X[10,1,11="7500 X[3,2,11=4796 X[5,3,1]1= 18000
- -- gamma(3,1,2,1]=1 --
-- X[1,2,11=5300
PR
é_ - Z[1,11=0 | Z[2,1]=0 | Z[3,1]=0 | Z[4,1]=0 | Z[5,1]=0 | Z[6,1]=0 | Z[7,1]=0 | Z[8,1]1=0 | Z[9,1]=0 |Z[10,1]=0|Z[11,1]=0]|Z[12,1]=0
(=
F 5z P& e =325648 (p W= & 250,384 ~ “t & = & 75264)
25 AR E = 1,120 "I = 17,4065 KRR =354
| =1 : (0—14) .
i 5 1| 3rd day 4th day
302400 345600

259200

‘ (360600, 748861)
(280204, 826659)

R, - 4104, 15299

255 5% g

[1,171=204 ) I=1 : (0—14) R
Sthd:y fth day Tth day §th day 9th day
518400 S61600 604800 64800 69100 T340 7600

388800 5200 520

Bl 4-8 A ZF W8 - # 1 Ki2FE B (G-, u=1) % % 2 4 £ H
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% 4-36 AP > A FF é_(Step4) » i~ Step5 > %’gv) 5V 3-58~5%3-59
T8 248 52 21 pFB(com,,,) 0 3B B ARACN 4-41 2 5N 4-43 5 2 EriE Ao
Woo1~2 s A Wiz (com“_readyl <due, =>4.55<5<14 ~
com,, <ready!™ <due, =>3.54<5<14 ) - 8 5 3 & E ¥ ¥ iF & =
(ready!™ <com,, =5<927) > FI#*i& » Step5-1 L #T fygy 2 E (% 75 iF &

S Z 2L TR R fuermtuax-1=1-1=0) > i~ Step6 o

Zcomrmuh ‘
360600 _ X 4-41

com, | = 455 (%)
’ (l—ah‘l—pm1 eg1)><24><60><60 79247

z Com)esult
com, , = = 280204 =354 (%) 3 4-42
" (I-dt,— pm,—eg,)x24x60x60 79061
Zcomrevult 732600 ‘
com, | = 9.27 (%) 3 4-43

(l—dtS—pm3 eg3)><24><60><60 78977

d #5285 0(Step6) » % Stepb-1.48 fribe A f#cg | ke £ N
£ (4,704<18,000) » ** Step8 | Bl fyy 2 B A F 3 A (s - H(1#3) > &

Step8-1

3 Step8-1 873 % 1 Hp2 ek - d 3L 1~ 2FBEHFiEt= >
Fd 53-68 KB A L2 B AN (et 4-44 2 30 4-45 47 1R
FxPp s~ HELY (X =X,,,,00" =0, fort=1m=1,2); £ % >
o3 mERFER S o d ready!™ x(1-dt, —pm3—eg3)><24><60><602394887
()it & F BT readyM'N;f?’r 1 /R > FRF > K7
394904(F)) 5 A &5 5304 5 3 2 A % 3368 H 2 IR 0 F temps;
2. BT 5 394904 4 5 3 2 %‘r Fp AR L X =10,500 2 X% =3368 °

WF=W o2 A isir Step8-2> #-n 2 #itlE #F, T_% 1 T &~ Step8-3 o
temp, | z ltemp, = (ready!™ —ready,)x (1—dt, — pm, —eg,) x 24 x 60x 60 = 396236

leD;

X 4-44

temp, | = Z ltemp, , x (1—dt, — pm, —eg,)x24x60x 60 = 395308

leD;

;% 4-45
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P RfREART 0 IR G T CaseT D BARE RS B i

23 e

10

3 Step8-3 {84t 2 B £354(143)» & » Step8-4 i 7 4 = L3
#° BB 3 e L AT (v vewt1=0+1=10 tyux= tygy =1) » & 3] Step2-4 {8 >
AR 1D AW(I4 2 N TH B2 34 F F 4% % o Step2-5 B A ready,

22 ready, * p % (0#9)i& » Step3 °
# 4-37 XFHE8 22 XiEE RG] 1) 75 T

2.4 A o B ready, | due, A5 7 R ()
gHhe| | T T E) &) ABle] D] E JF|IG]IH|T]J]K]|L
1 2y | eas | 21 5 14 | 4500 | 4500 | 0| 2000 Hgggg 7500 | 9400 | 9300 0| 5500 | 4000 | 5800
Cpsr2- 5 203 AN L RPN A 4-37 2378 § Rie 7 kiR
R R EEIE A 4-38 T UH FR A TR 4-90
o FrH (=1 2 2)2 83 aT5 TCase8: LSl 2 o 37
EPpe23EEFE -
% 4-38 K E 82 R Bl G )2 3058 % (e A1
i 3, ;
S sy , o , e
il # 0 1 # 52 TEE
delta[1,2,1] = 1 beta[10,10,1,1] =1 beta[1.1,2,1] = 1 beta[5,5,3,1] = 1 0[5,1] = 1747
delta[2,2,1] = 1 X[10,1,1] = 5500 X[1,2,1}= 4500 X[5,3,1] = 18885 0[7,1]= 3011
delta[2,3,1]=1 gamma[10,12,1,1] =174 gamma[1,2,2,1] =1 gamma[5,6,3,1]=1 --
delta[3,1,1]=1 X[12,1,1] = 5800 X[2,2,1] = 4500 X[6,3,1] = 7500
-- gamma[12,11,1,11=1 | gamma[2,4,2,1]=1 --
1 X[11,1,1] = 4000 X[4,2,1] = 2000
- gammal4,8,2,1]1=1
X[8,2,1] = 9300
gamma[8,7,2,1] =1
X[7,2,1] = 6389
H HE
Z[1,1]1=0 | Z[2,11=0 | Z[3,11=0 | Z[4,11=0 | Z[5,1]=0 | Z[6,1]=0 | Z[7,1]=0 | Z[8,1]=0 | Z[9,1]1=0 |Z[10,1]=0|Z[11,1]=0]|Z[12,1] =0
A &
+z PiRE =418,824 (p & & @ 342,696 ~ * & & & 76,128)
E5 p AR R = 1,120 5 fLHIN =17,406; KjERpER =347 4
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122 (5—14)

|A »
3rd day 4th day Sthday 6th day Tth day 8th day
259200 302400 345600 388800 432000 475200 518400 561600 604800 648000 691200
ol
o2
#e3
E 3 2 40
o g =11 (4758, 10541) % 14 = PR
A
|
9th day 10th day 11th day 12th day 13th day 14th day
734400 777600 820800 864000 907200 1036800 1080000 1123200 1166400 1209600

993600

950400

~A [4,11=2000

Bl 4-9 X FH8 L 22 Kb B, ) % 2 4 FF R
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d % 4-38 A E A $ ~ 2 52 77 &(Stepd) > 3t StepS ¢ AR EAFE 7 N
,,\#Eﬁfx’%f' a5 ];ﬁ* T H B3 2 42 B ekaF'“v-‘%i 14 % 2

B i%‘r ENES R, 2_ 1% li(due o < readyM[N =14 <14)o F]pL i o~ StepS 1
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¥t s
“t4- A ILOG Rz % %

31?] N EFEREZHEF D Wint=w,,, -~ BG[imt]=BG;,, *
FG[i,m,t]|=FG;,,, ~ alpha[i,m,t]=a; ,, ~ beta[i,m,t]=F; ., ~ gamma[i,i’,m,t]=y; ;" >
O[i,t]=0;, ~ X[i,m,t]=X;,,, ~ delta[a,m,t] =J,,,,, ~ Y[i,t]=Y;, ~ OY[i]=0Y; » p* ¢}
TR RS 02 R

A-l..ﬂ‘iﬁi% B(1,1)2. = BRL 2 5%

=1
alpha[1,1,1]=1 beta[0,8,2,1] = FG[5,2,1]= X[7,3,11=3312
alpha[3,1,1]=1 gamma[l, 3,1,1] = FG[10,3,1]1=1 X[8,2,11=3499
alpha[5,2,1]=1 gamma[7,5,2 1]= w[l,LI]=1 X[9,3,11=2300
alpha[5,3,1]=1 gamma[7,11,3 1] = w[3,1,1]=1 X[10,3,1]1=880
alpha[6,2,1]=1 gamma[8,7,2,1] = w[5,2,11=1 X[11,3,11=2696
alpha[6,3,1]=1 gamma[9,10,3, 1] = w[7,2,11=1 O[8,1]1=1
alpha[7,2,1]=1 gamma[11,9,3,1] = w[7,3,1]1=1 0O[10,1]= 2120
alpha[7,3,1]=1 delta[1,1,1]=1 w[8,2,11=1 O[lLL1]=
alpha[8,2,1]=1 delta[2,2,1]=1 w[9,3,1] = --
alpha[8,3,1]1=1 delta[2,3,1] =1 w[10,3,1] = --
alpha[9,3,1]=1 delta[3,3,1] =1 w[11,;3,1]=1 --
alpha[10,3,1]1=1 BG[1,1,1] = X[1,1,11.= 5000 --
alpha[11,3,1]=1 BG[7,3,1]1=1 X[3,1,1]=14070 --
beta[0,1,1,1]=1 BG[8,2,1] =l X[S,2,1] = 5100 --
beta[0,7,3,1] =1 FG[3,1,1]=1 X[7,2,1] =288 --

Kz %

PHiE =155580(p @ =~ 117,338 ~ ?k & = & 38,242)
p AR R = 1,120 5 L4058 =17,405 5 RKpEpFEm =411 4
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A2 F 135 FIQ2)2 % BRI %
=2
alpha[2,1,2] = beta[3,3,1,2] = 1 BG[10,3,2]=1 X[5,2,2] = 2895
alpha[3,1,2] = beta[5,5,2,2] = 1 FG[2,1,2]=1 X[6,2,2] = 310
alpha[5,2,2] = 1 beta[10,10,3,2] = 1 FG[6,2,2] = 1 X[6,3,2] = 2313
alpha[5,3,2] = gamma[3,2,1,2]= 1 FG[6,3.2] = X[10,3,2] = 400
alpha[6,2,2] = gamma[5,6,2,2] = 1 w[2,1,2]= 1 0[2.2]= 1849
alpha[6,3,2] = 1 gamma[10,6,3,2] = w[3,1,2]=1 0[3.2]=
alpha[7,2,2] = delta[1,1,2] = 1 w[5.2,2] = 1 0[5.2]=
alpha[7,3,2] = delta[2,2,2] = 1 w[6.2.2]=1 0[6,2] = 477
alpha[8,2,2] = 1 delta[2,3,2] = 1 w[6,3.2] = 1 0[8,2] = 200
alpha[8,3,2] = 1 delta[3,3,2] = 1 w[10,3,2]= O[11,2] = 400
alpha[10,3,2] = 1 BG[3,1,2]=1 X[2,1,2] = 51 0O[12,2] = 500
alpha[11,3,2] =1 BG[5,2,2]=1 X[3,1,2] = 2295 -
fpp %
LE 106,832 (f & 4 : 45804~ ¢ & & & 61,028)

2
. ;»i_

’

W =1,120 5 2458 =17,369 ;

FfEPER =3.83 4

A-3. F 2 FI(3,3)2 2 FRBI 5

=3

alpha[1,2,3] = | beta[6,6,3,3] =1 FG[2.23]= 1 X[5,2,3] = 14899
alpha[2,2,3] = 1 camma[1,2,2.3] =11 FG[73.3]= | X[6,2,3] = 7895
alpha[5,2,3] = 1 cammal[5,1,2,3)= 1 FG{11,1,3]= | X[6,3,3] = 9205
alpha[5,3,3] = 1 camma[6,52,3] = 1 w[l,2.3] =1 X[7,3,3] = 18499
alpha[6,2,3] = oamma[6,3,3,3] =1 w[2.2,3] 5 1 X[8,3,3] = 8647
alpha[6,3,3] = camma[8,7,33] =1 w[5.2,3)=1 X[9,1,3] = 8200
alpha[7,2,3] = 1 gamma[9,10,13]=1 | w623}~ 1 X[10,1,3] = 8285
alpha[7,3,3] = 1 gamma[10,12,13] =1 || w[6,3,3] = | X[11,1,3] = 6500
alpha[8,2,3] = 1 gamma[12,11,1,3]=1 | w[7,3,3] =1 X[12,1,3] = 12799
alpha[8,3,3] = 1 delta[1,2,3] = 1 w[8,3,3] = 1 0O[4,3] = 10500
alpha[9,1,3] = 1 delta[2,2,3] = 1 w[9,1,3] = 1 0[5,3] =1
alpha[10,1,3] = | delta[2,3,3] = 1 w[10,1,3] = 1 0[73]=1
alpha[11,1,3] = 1 delta[3,1,3] = 1 wl1,1,3] = 1 0[8,3] = 1153
alpha[12,1,3] = BG[6,2,3] = | w[12,1,3]= 1 0[10,3] = 3755
beta[1,9,1,3] = 1 BG[6,3,3] = | X[1,2,3] = 12900 O[12,3]=1
beta[6,6,2,3] = 1 BG[9,1,3] =1 X[2,2,3] = 2000 -

-}\ﬁﬂ (35

piRiE
AR ik =1,120;

=814,372 (p ® =+ & : 536,978 ~ ¢t

&% A 277,394)

IR =17,369; KRR =478 )
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A-d. 12 FI(3,3)2 S5 7 ¢ BATRA S 5

=3
alpha[1,2,3]= gamma[6,5,2,3] = 1 w[6,2,3]= 1 oY[12]=1
alpha[2,2,3]= gamma[6,8,3,3] = | wl6,3.3]=1 X[1,2,3] = 12900
alpha[5,2,3]= 1 gamma[8,7,3,3] = 1 w[733]=1 X[2,2,3]= 1993
alpha[5,3,3]= gamma[9,10,1,3] = w833]=1 X[5.,2,3] = 14900
alpha[6,2,3] = gamma[10,12,1,3] =1 |[w9.13]=1 X[6,2,3] = 7901
alpha[6,3,3] = 1 gamma[12,11,13]=1 | w[10,1,3]=1 X[6,3,3]= 9199
alpha[7,2,3] = delta[1,2.3]= 1 wllL13]=1 X[7.3.3] = 18490
alpha[7,3,3]= delta[2,2.3]= 1 wli2,13]=1 X[8,3.3] = 8661
alpha[8,2,3]= 1 delta[2,3.3]= 1 Y[23]= X[9,1,3] = 8200
alpha[8,3,3]= delta[3,1,3]= 1 Y[4,3] = X[10,1,3] = 12034
alpha[9,1,3] = 1 BG[6,2.3] = | Y[73]= X[11,1,3] = 6500
alpha[10,1,3] = | BG[6.3.3] = 1 Y[83]= X[12,1,3] 9050
alpha[11,1,3] = BG[9,13] =1 Y[103]= 0[23]=
alpha[12,1,3] = G[22.3]=1 Y[12,3]=1 0[43]= 10500
beta[1,9,1,3]= 1 G[733]=1 OY[2]=1 0[7.3]=10
beta[6,6,2,3] = | FG[11,1,3] =1 OY[4]= 0[8,3] = 1139
beta[6,6,3,3] = | wl,23]= OY[7] 0[103]=
gamma[1,2,2,3] = | w[2,2,3] = 1 OY[8]= 0[123]= 3750
gammal5,1,2,3] = | w[5,.2,3] =1 0Y[10] =1 -

ﬁﬂ ’z_L

pikE

o

=17,431;

=814,384 (p ‘%ﬂs\ #111536,988 ~ ¢t & = & 277,396)
LR = 1,144 5 1

FIERER = 4.66 )

A-5. R f3 4 (442

% B R

=4

alpha[1,2,4] = beta[11,11,1,4] = | Ww[1.24] = 1 X[1,2,4] = 1000
alpha[2,2,4] = gamma[1,3,2,4] = | w[2,2,4] = 1 X[2,2,4] = 1313
alpha[3,2,4] = 1 gammal[2,1,2,4] = 1 w[3,2,4]= 1 X[3,2,4] = 4649
alpha[4,2,4] = gammal3,7,2,4] = 1 w[5,3,4] = 1 X[5,3,4] = 7298
alpha[5,2,4] = gammal7,5,3,4] = 1 w[7,2,4] = 1 X[7,2,4] = 2414
alpha[5,3,4] = 1 gamma[10,9,1,4]=1 | w[7,3.4] =1 X[7,3,4] = 2486
alpha[6,2,4] = gamma[11,12,1,4]=1 | w[9,1,4] = 1 X[9,1,4] = 4960
alpha[6,3,4] = gamma[12,10,1,4]=1 | w[10,1,4] = X[10,1,4] = 994
alpha[7,2,4] = 1 delta[1,2,4] = 1 wll1,1,4] = X[11,1,4] = 2900
alpha[7,3,4] = delta[2,2,4] = 1 w[12,1,4] = X[12,1,4] = 631
alpha[8,2,4] = delta[2,3,4] = 1 Y[2,4] = 1 O[2,4] = 2687
alpha[8,3,4] = 1 delta[3,1,4] = 1 Y[4,4] =1 0[4,4] = 1700
alpha[9,1,4] = 1 BG[2,2,4] = 1 Y[6,4] = 1 0[6,4] = 3206
alpha[10,1,4] = 1 G[7,34]=1 Y[10,4]= 1 0[10,4] =
alpha[11,1,4] = 1 BG[11,1,4] = 1 oY[2]=1 Z[34] = 1
alpha[12,1,4] = G[534] =1 OY[4] =1 Z[54]=2
beta[2,2,2,4] = 1 FG[7,2.4] = | 0Y[6] = 1 Z[6,4] = 4294
beta[7,7,3,4] = 1 G[9,14] = 1 OY[10] = 1 Z[12,4] = 669

PR,

piEiE =406,212 (p & A @

AR = 1,144 5 LS

120,456 ~ #t & = & 13

= 17431 ;

6,782 ~ 3 £ » & & 148,974)

RpREF =473 §)
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A-6. A j2H FG4)2 ek A2 > & SRS
=4
alpha[1,2,4] = beta[7,7,3,4]=1 FG[7,24]=1 oY[4]=1
alpha[2,2.4] = beta[11,11,1,4]=1 FG[9,1,4]=1 oY[6]=1
alpha[3,2,4]=1 gamma[1,3,2,4]=1 w[l,24]= 1 OY[10]=1
alpha[4,2,4] = gamma[2,1,2,4]=1 w[2,24]= X[1,2,4]1=1000
alpha[5,2,4] = gamma[3,7,2,4]=1 w[3,24]= X[2,2,4]1=1313
alpha[5,3,4]=1 gamma[7,5,3,4]=1 w[5,3,4] = X[3,2 4] 4649
alpha[6,2,4] = gamma[10,9,1,4] =1 w[7,24]= X[5,3,41=7298
alpha[6,3,4] = gamma[11,12,1,4]=1 | w[7,3,4]= X[7,2,4]1=2414
alpha[7,2,4]=1 gamma[12,10,14]=1 | w[9,1,4]= 1 X[7,3,4] =2486
alpha[7,3,4] = delta[1,2,4]=1 w[10,1,4] = X[9,1,4] = 4960
alpha[8,2,4] = delta[2,2,4]=1 w[ll,1,4]= X[10,1,4] =99%4
alpha[8,3,4]=1 delta[2,3,4]=1 w[l12,1,4] = X[11,1,4]1=2900
alpha[9,1,4]=1 delta[3,1,4]=1 Y[24]=1 X[12,1,4] =631
alpha[10,14]=1 BG[2,24]=1 Y[44]=1 0[2,4] =2687
alpha[11,14]=1 BG[7,34]=1 Y[6,4]=1 0[4,4]1=1700
alpha[12,1, 4] = BG[11,1,4]=1 Y[10,4] = 1 0[6,4] = 3206
beta[2,2,2,4]=1 FG[5,3,4]=1 OY[2]= 0O[10,4] =
Fird %
L ’fi';l— & =257,238 (B = & : 120,456 ~ ¢t & & & 136,782)
LR R E =1,144 5 I8 =17,431 5 RKjEpER =425%)
A7 413 5 B1(5,5) 2 2 B RIS %
=5
alpha[1,1,5]= beta[5,5,3,5]=1 BG[1,1,5] = w[10,3,5]=1
alpha[2,1,5] = beta[7,7,2,5] =1 BG[53.5]1=1 w[12,3,5]=1
alpha[3,1,5] = beta[9,1,1,5]=1 BG[7,2,5]1=1 X[1,1,5]1=3300
alpha[4,1,5] = gamma[1,2,1,5]=1 FG[3,1,5]=1 X[2,1,5]1=11550
alpha[5,2,5] = gamma[2,4,1,5]= FG[6,2,5]=1 X[3,1,5] = 6600
alpha[5,3,5] = gamma[4,3,1,5]=1 FG[12,3,5]=1 X[4,1,5]=1100
alpha[6,2,5] = gamma[5,9,3,5] = w[1,1,5]=1 X[5,3,5]=9760
alpha[6,3,5] = 1 gamma[7,8,2,5] = w[2,1,5]=1 X[6,2,5]1=9520
alpha[7,2,5] = gamma[8,6,2,5] =1 w[3,1,5]= X[7,2,5] = 5800
alpha[7,3,5] = gamma[9,10,3,5]=1 w[4,1,5]=1 X[8,2,5]1=4700
alpha[8,2,5] = 1 gamma[10,12,3,5]=1 | w[5,3,5]=1 X[9,3,5]1=3770
alpha[8,3,5] = delta[1,1,5]=1 w[6,2,5]=1 X[10,3,5]=2750
alpha[9,3,5] = 1 delta[2,2,5] = w[7,2,5]=1 X[12,3,5]=5200
alpha[10,3,5]=1 delta[2,3,5] =1 w[8,2,5]=1 --
alpha[12,3,5]=1 delta[3,3,5] = w[9,3,5]=1 --
iz

PRE

AR % = 1,144

5 = 17,431

=325,840 (p Hl & & : 325,840)
KA =4.80 #)
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A-8.Case6 F-f3# F1(1,3)2 = KR H1 & %

=1
alpha[1,1,1]=1 alpha[9,3,1] = gamma[10,5,3,1] = w[l,L1]=1 X[5,3,11=3375
alpha[2,1,1]=1 alpha[10,3,1]=1 gamma[11,9,3,1] = w[3,1,1]1=1 X[7,2,11=3601
alpha[3,1,1]=1 alpha[11,3,1]=1 delta[1,1,1]=1 w[5,2,1]1=1 X[8,2,11=3504
alpha[4,1,1]=1 alpha[12,3,1]=1 delta[2,2,1]=1 w[5,3,1]1=1 X[9,3,11=2312
alpha[5,2,1]=1 beta[0,3,1,1]= delta[2,3,1]=1 w[7,2,1]1=1 X[10,3,1] =448
alpha[5,3,1]=1 beta[0,7,2,1] = delta[3,3,1]=1 w[8,2,1]1=1 X[11,3,1]1=3100
alpha[6,2,1]=1 beta[0,11,3,1]= BG[3,1,1]=1 w[9,3,1]=1 O[L1]= 1735
alpha[6,3,1]=1 beta[1,2,1,2]=1 BG[7,2,1]= 1 w[10,3,1]=1 O[3,1]=
alpha[7,2,1]=1 gamma[3,1,1,1]=1 BG[11,3,1]= w[11,3,1]=1 O[10,1]= 2552
alpha[7,3,1]=1 gamma[7,8,2,1] =1 FG[1,1,1]= 1 X[1,1,1]=3265 -
alpha[8,2,1]1=1 gamma[8,5,2,1] = 1 FG[5,2,1]1=1 X[3,1,1]1= 6265 -
alpha[8,3,1]1=1 gamma[9,10,3,1] = FG[5,3,1]=1 X[5,2,11=1756 --

=
alpha[1,1,2]=1 alpha[8,2,2]=1 delta[1,1,2]=1 w[2,1,2]= 0[5,2]=1
alpha[2,1,2]=1 alpha[8,3,2] = delta[2,2,2] =1 w[5,3,2] = 0O[8,2]1=197
alpha[3,1,2]=1 alpha[9,1,2]=1 delta[2,3,2] = w[6,2,2]=1 0[10,2]1 =400
alpha[4,1,2]=1 alpha[10,1,2] =1 delta[3,1,2]=1 w[6,3,2]=1 0[12,2]1=500
alpha[5,2,2]=1 alpha[11,1,2] = BG[2,1,2]1=1 X[2,1,2]1=2774 -
alpha[5,3,2]=1 alpha[12,1,2] = BG[5,3,2]=1 X[5,3,2] =2867 -
alpha[6,2,2] =1 beta[1,2,1,2] =1 BG[6,2,2]=1 X[6,2,2]1 =2769 -
alpha[6,3,2] =1 beta[5,5,3,2] =1 EG[1,1,2]=1 X[6,3,2] =331 -
alpha[7,2,2] = beta[5,6,2,2] =1 FG[5,2,2]|=1 0[2,2] =226 -
alpha[7,3,2] = gamma[5,6,3,2] =1 FG[6,3,2] =1 0O[3,2]=104 -

=3
alpha[1,2,3] = alpha[11,1,3]=1 delta[2,2,3]=1 w[6,3,3]=1 X[8,2,3]1=9798
alpha[2,2,3] = alpha[12,1,3]=1 delta[2,3,3]1=1 w[7,3,3]=1 X[9,1,3]1=28184
alpha[4,2,3]=1 beta[2,12,1,3]=1 delta[3,153]=l w[8,2,3]=1 X[10,1,3] = 12040
alpha[5,2,3]=1 beta[5,8,2,3] =1 BG[6,3,3]=1 w[9,1,3]=1 X[12,1,3] = 8956
alpha[5,3,3]=1 beta[6,6,3,3] =1 BG[8,2,3]=1 w[10,1,3]=1 0[6,3] = 12096
alpha[6,2,3]=1 gamma[2,1,23]=1 BG[12,1,3]=1 w[11,1,3]=1 0[9,3]1=4
alpha[6,3,3]=1 gammal4,2,23]=1 FG[1,2,3]=1 w[12,1,3]=1 O[11,3]1=6
alpha[7,2,3]1=1 gamma[7,5,3,3]=1 FG[5,3,3]=1 X[1,2,3]1=12897 O[12,3]1=3844
alpha[7,3,3] = gamma[8,4,2.3]=1 FG[10,1,3]=1 X[2,2,3]1=2000 -
alpha[8,2,3] = gamma[9,10,1,3]=1 w[1,2,3]=1 X[4,2,3] = 10500 -
alpha[8,3,3]=1 gamma[11,9,1,3]=1 w[2,2,3]1=1 X[5,3,3] = 14900 -
alpha[9,1,3]=1 gamma[12,11,1,3] =1 w[4,2,3]=1 X[6,3,3] = 5004 --
alpha[10,1,3] =1 delta[1,2,3] =1 w[5,3,3]=1 X[7,3,3] = 18499 -

FirE %

i iE
;AR % =3,396 ;

’

=1,059,114 (p @ = & : 672,828 ~ ¢} &
48 =53,118 5 Rjzpr i =2083.81 §)

& ~ 386,286)
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A-9.Case6 Ff% f #1(4,5)2 % FRH] 5 %

=4
alpha[1,1,4] = beta[1,5,2,4] =1 G[5,24]=1 X[1,1,4]1=1319
alpha[2,1,4]=1 beta[5,5,3,4] =1 BG[5,3,4]1=1 X[2,1,4] = 4000
alpha[3,1,4] = beta[10,2,1,4] =1 G[4,1,4]=1 X[3,1,4] = 4980
alpha[4,1,4] = gamma[1,3,1,4]=1 FG[6,2,4]=1 X[4,1,4]=1700
alpha[5,2,4]=1 gamma[2,1,1,4] = FG[9,3,4]=1 X[5,2,4] = 7246
alpha[5,3,4] = gamma[3,4,1,4]=1 [1,14]=1 X[5,3,4]=
alpha[6,2,4] = gamma[5,6,2,4] =1 w[2,1,4]=1 X[6,2,4] = 5173
alpha[6,3,4] =1 gamma[5,7,3,4] =1 w[3,1,4]=1 X[7,3,4] = 4900
alpha[7,2,4] = gammal[7,11,34]=1 wl[4,1,4]=1 X[9,3,4] = 4960
alpha[7,3,4] = gamma[11,9,34] =1 w[5,2,4]=1 X[11,3,4] =2900
alpha[8,2,4] =1 delta[1,1,4]=1 w([5,3,4]=1 0[6,4] = 2327
alpha[8,3,4] = delta[2,2,4] =1 w[6,2,4]1=1 0[10,4] = 1000
alpha[9,3,4]=1 delta[2,3,4] =1 w[7,3,4]=1 0[12,4]1=1300
alpha[10,3,4] =1 delta[3,3,4] =1 w[9,3,4]=1 -
alpha[11,3,4] =1 BG[2,1,4]=1 w[11,34]=1 -
=5
alpha[1,1,5]=1 alpha[12,3,5]=1 delta[3,3,5]=1 w[9,3,5]=
alpha[2,1,5]=1 beta[4,4,1,5]=1 BG[4,1,5]1=1 w[10,3 5]
alpha[3,1,5]=1 beta[6,6,2,5] =1 BG[6,2,5]1=1 w[12,3,5]=
alpha[4,1,5]=1 beta[9,9,3,5]=1 BG[9,3,5]1=1 X[1,1,5]= 2981
alpha[5,2,5] = 1 gamma[1,2,1,5]=1 FG[2,1,5] =1 X[2,1,5]1=11550
alpha[5,3,5] = gamma[3,1,1,5] = EG[5,2,5]= 1 X[3,1,5]=6270
alpha[6,2,5] = gammal4,3,1,5] =1 EG[73;5]=1 X[4,1,5]1=1100
alpha[6,3,5] = 1 gammal[6,52,5] =1 w[1,1,5] =1 X[5,2,5]1=9760
alpha[7,2,5]=1 gamma[8,7,3,5] =1 w[2,1,5]=1 X[6,2,5]=9520
alpha[7,3,5]=1 gamma[9,10,3,5] =1 w3, 155] =1 X[7,3,5] = 5800
alpha[8,2,5]=1 gamma[10,123,5]=1 | w[4,1,5]=1 X[8,3,5]=4700
alpha[8,3,5]=1 gamma[12,8,3,5]=1 w[5;2,51=1 X[9,3,5]=3770
alpha[9,3,5]=1 delta[1,1,5]=1 w[6,2,5]=1 X[10,3,5]=2750
alpha[10,3,5]=1 delta[2,2,5]=1 w[7,3,5]= X[12,3,5] = 5200
alpha[11,3,5]=1 delta[2,3,5]=1 w[8,3,5]=1 -
Rfrie s
PEE =577,204 (p & 4 : 493018« *F # & A 83,286)
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A-10. % F 5 =1 KR, D)2 R LRSS

=1
alpha[1,2,1]=1 alpha[10,1,1] = G[4,2,1]1=1 w[10,1,1]=1
alpha[3,2,1]=1 beta[0,4,2,1]=1 G[6,3,1] 1 X[1,2,11=15300
alpha[4,2,1]=1 beta[0,6,3,1]=1 BG[9,1,11=1 X[3,2,11=4796
alpha[5,2,1]=1 beta[0,9,1,1]=1 FG[1,2,1]1=1 X[4,2,11= 1000
alpha[5,3,1]=1 gamma[3,1,2,1]=1 FG[53,1]= 1 X[5,3,1]1= 18000
alpha[6,2,1]=1 gammal[4,3,2,1] =1 FG[10,1,1]= X[6,3,11=10500
alpha[6,3,1]=1 gamma[6,5,3,1] = 1 w[1,2,1]1=1 X[9,1,11= 6000
alpha[7,2,1]=1 gamma[9,10,1,1] = w[3,2,1]=1 X[10,1,11=7500
alpha[7,3,1]=1 delta[1,2,1]=1 wl[4,2,1]1=1 0[3,11=204
alpha[8,2,1]=1 delta[2,2,1]=1 w[5,3,11=1 O[11,171=4500
alpha[8,3,1]=1 delta[2,3,1]=1 w[6,3,1]=1 -
alpha[9,1,1]=1 delta[3,1,1]=1 w[9,1,1]=1 --

Rz %
PR =325648 (p W= & 250,384 ~ “t & = & 75264)
p K Rk = 1,120 5 fLHIY =17,406 ;5 FjERpER =354
AL E 8 822 R R(LD2 2 Rl %%

=1
alpha[1,2,1]=1 beta[1,1,2,1] =1 BGEL,2,1}=1 w[l1,1,1]=1
alpha[2,2,1]=1 beta[5,5,3,1]=1 BG[53,11=1 w[12,1,1]=1
alpha[4,2,1]=1 beta[10,10,1]=1 BG[10,151]= 1 X[1,2,11=4500
alpha[5,2,1]1=1 gamma[l,2,2,1] =1 FG[6,3,1] =4l X[2,2,11=4500
alpha[5,3,1]=1 gamma[2,4,2,1] =1 EG[7,2,1]=1 X[4,2,1]1=2000
alpha[6,2,1]=1 gammal[4,8,2i1]="1 FG[11,1,1]=1 X[5,3,1] = 18885
alpha[6,3,1]=1 gamma[5,6,3,11=1 w[L2/1]=1 X[6,3,1]1=7500
alpha[7,2,1]1=1 gamma[8,7,2,1]=1 wi2,2,1]1=1 X[7,2,11= 6389
alpha[7,3,1]=1 gamma[10,12,1,1]=1 | w[4,2,1]=1 X[8,2,1]1=9300
alpha[8,2,1]1=1 gamma[12,11,1,11=1 | w[5,3,1]=1 X[10,1,1]=5500
alpha[8,3,1]1=1 delta[1,2,1]=1 w[6,3,1]1=1 X[11,1,1]=4000
alpha[10,1,1]=1 delta[2,2,1] = w([7,2,1]1=1 X[12,1,1] = 5800
alpha[11,1,1]=1 delta[2,3,1]=1 w(8,2,1]1=1 O[5,1]1=1747
alpha[12,1,1]=1 delta[3,1,1] = w[10,1,1]1=1 O[7,1]1=3011

ﬁw L
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A-12. EHR #3241 ERFIQI)Z R EREEE
=2
alpha[1,2,2]= alpha[11,1,2]=1 delta[3,1,2] =1 w[l1,1,2]=
alpha[2,2,2] = alpha[12,1,2]=1 BG[6,3,2]=1 w[12,1,2] =
alpha[3,2,2]1=1 beta[6,6,3,2] =1 BG[7,2,2]=1 X[2,2,2] = 3074
alpha[4,2,2] = beta[7,7,2,2] =1 BG[11,1,2]=1 X[3,2,2] = 4080
alpha[5,2,2] = beta[11,11,1,2]=1 G[2,2,2]=1 X[4,2,2] = 1000
alpha[5,3,2]=1 gamma[3,4,2,2]=1 FG[8,3,2]=1 X[6,3,2] = 7000
alpha[6,2,2] = gamma[4,2,2,2] =1 FG[9,1,2]=1 X[7,2,2] =5684
alpha[6,3,2] = gamma[6,8,3,2] =1 [2,22]=1 X[8,3,2] = 9805
alpha[7,2,2]=1 gamma[7,3,2,2]=1 w[3,2,2]=1 X[9,1,2] =9878
alpha[7,3,2] = gamma[11,12,12]=1 | w[4,2,2]= X[11,1,2]1= 15700
alpha[8,2,2] = gamma[12,9,1,2]=1 w[6,3,2]=1 X[12,1,2] =3500
alpha[8,3,2]=1 delta[1,2,2]=1 w[7,2,2]=1 O[7,2] = 3495
alpha[9,1,2] = delta[2,2,2] =1 w[8,3,2]=1 --
alpha[10,1,2] =1 delta[2,3,2] =1 w[9,1,2] = --
=3
alpha[1,2,3]= alpha[10,1,3]1=1 delta[3,1,3]=1 w[10,1,3] =
alpha[2,2,3]= alpha[12,1,3]1=1 BG[2,2,3]=1 w[12,1,3] =
alpha[3,2,3]1=1 beta[2,2,2,3]=1 BG[8,3,3]=1 X[1,23]= 5000
alpha[4,2,3] = beta[8,8,3,3]=1 BG[10,1,3]=1 X[2,2,3]=1196
alpha[5,2,3]= beta[9,10,1,3]=1 G[1,2,3]=1 X[5,3,3]1 = 12000
alpha[5,3,3]1=1 gamma[2,1,2,3] =1 FG{5,3,3]=1 X[7,3,3] =9321
alpha[6,2,3] = gamma(7,5,3,3]=1 FG[12;1,3]1=1 X[8,3,3]=41%4
alpha[6,3,3] = gamma[8,7,3,3] =.1 w[l;2,3]=:1 X[10,1,3] = 8000
alpha[7,2,3]1=1 gamma[10,12,1,3] =14 w[2,2,3] = | X[12,1,3] =7000
alpha[7,3,3] = delta[1,2,3]=1 w[5,3,3]=1 0[3,3]1=4420
alpha[8,2,3]= delta[2,2,3]= w[7,3,3]=1 0O[8,3]=1
alpha[8,3,3]=1 delta[2,3,3] =1 w[8:3:3]1=1 0[9,3] =622
Fefp i
P =611,876 (p 2K 7475266 ~ *t & = A& 136,610)
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